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Topic:- Child Development & Pedagogy (CDP)

1) The full formof SENis___ . / SEN®TQUiwU___ RI

1. Special emotional negotiation / Hﬁ'ﬂﬁ SHRES AMRIERH

2. Social education needs / TR TSDHRM -Igd

3. Special educational needs / TR QW:WI Bt

4. Special and exceptional needs / WA 3R THREAA :ﬂ@'ﬂ

Correct Answer :-

« Special educational needs / WRIA TIHRAA 1Y

2) The need for child-centered education has increased mainly because: / qTd-hisd fRrem 31
SISl g&Ia: g $RUr A 9¢ Tt 8:

1. Parents have no time for their children. / ATAT-fUdT & UMY U= S o ﬁm qJHY 7‘1@[ %I
2. Parents are less qualified. / Arar-UdT &7 arg % I
3. Teachers have better qualification. / Rrerp! Bt aﬁ?ﬁ T %I

4. Teachers are more equipped to deal with overall development. / fRrere WW & fa

31 Jafsid g |
Correct Answer :-

 Teachers are more equipped to deal with overall development. / fRrefeh WW & ﬁ*l'q
3% gfeTa g

3) People who are categorized on the basis of economic condition are known as belonging to

a particular /ﬁq?ﬁﬁﬁan%@rﬁr%?wwwmﬁw%mm%a%
T® fagiy A Hefd U | =1 A1 g

1. Ethnic group / (WIEEY a4



2. Religion / )
3. Class / an
4. Caste / STTTdl

Correct Answer :-

e Class/ an

4) Perception of a particular method of teaching is different among learners because: /

g1 31 e faRIw usfa & yrRon Rienfiat & S firs § wife -
1. they do not want to learn. /éﬁwﬁmﬁ%l
2. they don’t like the topic. /G%ﬁ'ﬁl'qﬁm:lﬁél

3. perception is dependent on the environment learners are accustomed to. / YIRUII Rrefdal o

TafaRr R MR g, o smet 81
4. some of them do not like the teacher. / 3TH I DS QT&‘@ Cal SL3[ HB?W %I

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / YR U] Rrefal o

gaferor R ek 8, o sl g1

5) What is the primary change that occurs during puberty? / UIcE RS ??R'F'I' @ﬁ' CLGU
Wi ufead= | 82

1. Psychological maturity/H"I\IaQ‘III P URYUehdl
2. Social maturity / graTfores ufRaendr

3. Cognitive maturity / G D gy

4. Sexual maturity / 4 gRyesd

Correct Answer :-

. Sexual maturity / T GRUA1

6) At what age does the newborn recognize the mother’s voice? / f® 39 # Tawira Ry At
D1 AT B UgATAT 82

1. At birth / SH I
2. At three months / Il Il_sﬁef U3
3. At six months / &: ﬂﬁef R



4. At nine months / Al ﬂ%ﬁ R

Correct Answer :-

. Atbirth /SFH Y

7) Who was a development theorist of the mid-twentieth century who is best known for his
specific and detailed theory of children’s moral development? / CIRCIRIGIEA FUIH Udh
fawTa Rigiaer @19 o1 ot =91 & Afde faer & - faflkiy ok foga Risia &
forg i <ra 82

1. Lawrence Kohlberg / mi“éa q>\|g;c1q4|r

2. Vygotsky / CIEUIREDl
3. Piaget / oS

4, Erikson / gm?

Correct Answer :-

« Lawrence Kohlberg / Q'1\I’§H <31'>\I'('>'('1®|‘Ir

8) Who proposed the “Law of Effect”? / o= wyra &1 e ufaufes fear?
1. Sternberg / T

2. Fromm / /18

3. Thorndike / YT SIS

4. Bandura / E\IJ'UE'RT

Correct Answer :-

« Thorndike / YTHETS®H

9) Who developed the first intelligence test? / Ug Il m e (%R') fpaq fowla
fomar

1. Binet and Vernon / f89e S'ﬁT EFTT'T
2. Binet and Simon / ICEM G?IT R=

3. Goddard and Terman/‘I\ISIsr GﬁT CJ-Tﬂ

4. Goddard and Wechsler / TIETS 3R e

Correct Answer :-

« Binet and Simon / ICEM GﬁT R=



10) Preprimary education in India carried out through Anganwadi Centres falls under the

./ YR H Sare! $ai & Aread A < 9= arelt gd-mafire Rren
& Sl et g1

1. Ministry of Social Justice and Empowerment / AT =T 3R HTYBTRAT HATe

2. Ministry of Health and Family Welfare / ¥dIRY 3R URaR FHeaTur HATed

3. Ministry of Women and Child Development / Afg @l 3R &Tef faenT HaATerd

4. Ministry of Human Resource Development / HIFd T AT BT

Correct Answer :-

« Ministry of Women and Child Development / afga 3R 919 fawrg TATey
11) Critical thinking is an aspect of: / Mg = ﬁTF'l' DITP qﬂﬁ%

1. Bias / U&UId

2. Reasoning / LEg

3. Belief / faym

4. Emotion / HIdAT

Correct Answer :-

+ Reasoning / GEZ

12) The judgement of the quality of teaching depends on: / Rreror &t T DT ol

1. Developing a relationship / T ! fapRid @ IR

2. Attainment of information / STFHR] 1 UIGT TR

3. Discipline / 3R U

4, Overall development of student / I & T [dh |

Correct Answer :-

« Overall development of student / SHE & JHY [dh™ IR

13) The abbreviated term ADHD denotes: / Sf&&l Xeg ADHD (Q@'Qi@ﬂ) ﬁﬂ:lff CARANIG])

1. Attention Deficit Hypersensitivity Disorder / &1+ SHId SffadaeRitear fder



2. Attention Deficit Hyperactivity Disorder / &I 3{HId NIFRRINEEIN

3. Active Deficit Hyperactivity Disorder / iy 31HTa AfhadT [ddR

4. Aggression Deficit Hyperactivity Disorder/ SHIshTHdh dl SHHId N IERGINEEDR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder / ¥ 3HId R IERIRIACCAN

14) Which one of the following is not an internal factor of attention? /Frafafea d 9 =
AT (STYT) BT TP 3MARP PRSP 78] 87

1. Interest / 1

2. Intensity / iterdl

3. Mind set / Jd YRUT (A3E Jc)
4. Motives / URUTI

Correct Answer :-

« Intensity / dtgar

15) Which of the following factors did Kohlberg focus on in his theory of morality? /

Pigaat U+ Afaemdr & Rigia o Fufafea srRe! § 9 fra wR @ Sfga feare
1. Family influences / URaR UYd
2. Cognitive development / ESRIRIS:CACEAR]

3. Culture / W

4. Gender differences / fof ﬂ—c{

Correct Answer :-

« Cognitive development / STHTHD [dHTI

16) Which of the following is not an objective of Continuous and Comprehensive

Evaluation? / FrUfifEa & 9 «um Idd vd s geuid- &1 3539 T8l 82
1. Plan teaching-learning situations. / FRI&OT- T fRUfTTT &1 Ao dOR H3AT |

2. Communicate the child’s progress to different stakeholders. / T P U DI A= %HW
DI AT |

3. Map changes in the child’s learning and development. / I & T 3R fawr # ulkad-t
T HHe ST |



4, Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfdal & w1 9
1 UGT AT, 1P d IgeR TR B o |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / fqenfdat o 7= o
Y T BT, AP d IgdR UG B b |

17) Which of the following is not a risk factor for drug use that is directly attributed to
parents? /

Frafafeaa o @ o9 a1 571 Suah & fore sifaw ere 781 8 forae e arar-fiar uywer
Y ¥ ITRGRI S5 W2

1. Childhood negligence / dTedd¥T SIERCI]

2. Abuse / GHAER
3. Peer rejection / THH| RGBT

4. Genetic inheritance / &naam farad

Correct Answer :-

 Peer rejection / HGd)HT&%OTIdNUI

18) A child realizes that a four-legged animal that neighs cannot fit into her existing schema
of ‘dog’. What process will she undertake to fit this new information into her schemas? / Y

= @1 914 giaT1 @ T IR W aren 9HaR, 5l f RARAe 2, 'ox & Hieer smer o
fbe 7Y B THd1 81 ST 7S SHPRI B 39 ATHR H fbe B & forw ag o= I ufsear
3[YTTI?

1. Disequilibration / 3EJA

2. Accommodation / FHTISI

3. Assimilation / HTHIId
4. Homeostasis / IARITT

Correct Answer :-

o Accommodation / JHRST

19) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the
Kannada exam he wrote yesterday. What is this phenomenon known as? / ¥ I BT 3MTeT

F1 W & fore are fra 1§ sreRl & TRur #3139 gR1 & d fod T 7S
TII&IT & HRUI HS eRTdT & | $H U1 B fhd ATH I ST SI1dT1 82

1. Retroactive interference / q@g@ JARY



2. Retrograde interference / PIGUIGIRENE
3. Anterograde interference / ST ARy
4. Proactive interference / &@qﬂ"@ﬂ JARY

Correct Answer :-

+ Proactive interference / Hﬁqﬂ@ JARIY

20) According to Vygotsky, child’s language and thought develop . | TP
F IR, T P UTwT 3R faER i wva 7

1. independently of each other, then merge / U g\{-l\ﬁ WA gIpx dle H 30y o gieferd gt
EIGK

2. independently of each other / Uch §¥|§ WA

3. universally across the culture / FHT “Elﬂv—ﬁllﬁ R
4. together as child grows / 9= & fa&TT & 1Y

Correct Answer :-

« independently of each other, then merge / U gi-l-é T W0 glopR a1e § I T |iwferd gl
ITd &

21) Parents who have a lot of rules but support their children to follow the rules, are
adhering to ./ S Hrar-foar sga 9 A a91d § dfeq s s= @) fRae &1t e
¥ fore Tgradar v & BT TRV Hd ¢

1. Uninvolved Parenting / 37e& Ura-gIyor

2. Permissive Parenting / &E@w OTel=-areT

3. Authoritative Parenting / ATYHTNS gTer=-aIyur (31 Yivefea am

4. Authoritarian Parenting / SHfYHRATE! UTeH-aIwoT (3 YRR 3 ﬁﬁ%ﬂ)

Correct Answer :-

. Authoritative Parenting / 3TTHTN® TIA--TIN0T (3diRcled oRfem)

22) is the desire to act and move towards a goal. / &1 B
3R TP 9&a P} 3R T¢1 P I=T 2

1. Perseverance / €@ dl

2. Valour / dTg Y
3. Motivation / TR



4. Grit / 99

Correct Answer :-

« Motivation / TR

23) Which of the following theorists emphasizes the importance of categorization in the

Iear%ning process? / fRaferfad Rigiaer # @ ®19 ifnm &t uftkar # aiffeor & Hgd W &R
3d 82

1. Kohler / W

2. Bandura / SgXT

3. Bruner /R
4. Pavlov / PCRIE]

Correct Answer :-

e Bruner TGFTT

24) Problem-based learning in science encourages learners’ scientific habits of mind.
Which of these options best describes some of the guidelines for problem-based

learning?/ fagm A Jwar-smenfya e, Rrenfday &Y a7 Y aw~e sneal & Menfed wwad
21 379 | o1 91 faswen war-smenfyd Rigia W & oo fRznfadn 1 3fa auf sar 22

1. Reading, writing, listening/ UeI, Rﬂ{g"ll, I

2. Thinking up ideas, using multimedia, making variables/ Aec ISl T SUTRT HReb, AR
SRR faiRT Y FHSH

3. Asking questions, constructing a hypothesis, repeated trials/ 9% G, Tdh URG eI BT AT HRT,
TR-SR GRI&I0T AT

4. Discussions, a fixed number of trials, cooperative learning/ a%n‘, fAfga den o tR°[&‘WT, TehR] TRremmr

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ T% I&1, T UR&H eI B FH0T T,
IR-SR YRI&T0T DAl

25) The apparatus used for measuring the span of attention is . / 3@y fagfa
(VA 3ATE 3SR B AT & T wgaa fvar S arar Iuaon 2l

1. Tachistoscope / &
2. Microscope / Wﬂﬁq
3. Telescope / é?ﬂﬂﬁ'q

4. Epidiascope / Qﬁ'%'qm\ﬁ'q




Correct Answer :-

« Tachistoscope / &g

26) Id, ego, superego is put forth by: / U89, 37, WRTE (JUIsT) w0 # | frasd gr1 wufta
fod w2

1. Maslow / AR
2. Pavlov/ ﬁa?ﬂ”a

3. Jung/@T
4. Freud / /h1IS

Correct Answer :-

e Freud /WIS

27) The Expectancy Theory of motivation states that: / 90N & frgid A ®gar g
f:

1. People are motivated to do things due to external rewards. / TREPR I Hfad BT B & forg IR
gl g
2. There is a hierarchy of needs in each individual. / T fad H SERdl &1 T IGTIHH gidl ¢ |

3. There is a desire in a person to become what he is capable of becoming. / f¥l aafad & 98 &1 &1
31 gidl & S 98 & H Wer g

4. Motivation depends on the desirability of the outcome. / 3ERUT GRUMH &1 33T R AR Har g1

Correct Answer :-

« Motivation depends on the desirability of the outcome. / 3{fYERUT TRUMT Pt 35T WR AR w71

28) CANCELLED

Who among these psychologists have developed a theory of personality based on 2 dimensions:
introvertion and extrovertion? /g TR & | fraa 2 smarH Gﬁﬂ@ 3R E‘I%'ﬁ@ F YR W
HfRica 1 U Risia el far 3:2

1. Sigmund Freud/ fHE Whros

2. Carl Jung/ Eh—lﬁ?'[

3. Erich From/ Q|§$ BH

4, Hans Eysenck/ %ﬂ W
Correct Answer :-

« Hans Eysenck/ %ﬂ w



29) Teaching in an inclusive classroom is a challenge for teachers and demands
certain . | THTa=f wem # ger, Rierel & e v gk 7 ok 39w Aifda
TR @ MaRaHar g

1. Habits / Tafd
2. Talent / 9fauT
3. Expertise / Q&I

4. Practice / 3{¥OH

Correct Answer :-

 Expertise / Q&dl

30) is found to be effective at achieving conceptual change. /

o) 3o uRad= ure 9 # uHTd Ui T 2|
1. Reading textual materials/ UlS 3T TR SR YuTTe!

2. Labs / FARTRITCT

3. Discovery learning / %ﬂm 3Ty

4. Detecting an anomaly / EEUIREIRGIRSHISI

Correct Answer :-

 Detecting an anomaly / ICRUIREIRGIRSHIG]

Topic:- General Hindi (L1GH)

1) &9 a1 B T g, 3T g1 ol dg1 gt
TRl BT SATAH ATY I, §H Y ST gl 9a

3T Fh Ieard B, SRy s 95 9a 3nft
|4 $Ed €1 T Y, 3R TH S Y, FgT 7

e 3R T 7 A YD), 99 99 § SaRg 9w
T | I9PT O T T9, S P v $O feu @
<1 9Td B, 3 91 G, PO § 9 SR R po AN
TH PR GI-g:T P Yl I, TH TP T A g aa
& Rrgw ot g #, o geras uR ad
TH U@ MR SR WR, & Srwadl BT YR 9o



g9 | e, SruH R, Sit WR R Gaa? @d b

T I I TSl Tt WIoil B aToh 8RR Td

3T ST 3R IRTIT T, SATSTG I3 FPH Tl

79 W 99 ¥ SR T, §H 31U T Al 9d

IUded U= Bl UgHR 1Y I 9 a1d R T S« da1s¢|
UR: ‘U S 3t T gl A i BT T A 32
1. Iqgad i gt B

2. 3 IAM BT H ot B

3. Y-G9 $T TR s YHTT el USal |

4, dREAH TABA 5|

Correct Answer :-

. oo i e B

2) &9 Sal B 1 i, T 91 Ha agl 9a
T BT SATAH 1Y IT, §H Y ST ogl aa

3T DR I B, 3iTg F7x 95 =t enft
S T B T8 Y, 3R TH HA 3T, el aat

9 3R T2 7 A S, 99 e ¢ ST T
T & IR O T TQ, S P U $O feu Id
3 91 FE, < 919 T, TO 5 IR R g Ay
TP B GW-§:W P Yl BI, g0 TP U9 I R aa
74 fras &t g 4, o< gerer wR Ia
TH TS R SR IR, & ol BT UR 9o

TH A Xed, U IRd, St WR R GaAd: Jd &b
& §d §9a 3TeT I8t WTuil &t Aol eR T

S YT 3R TR 1, TG I3 $H AT

&9 W0 99 J 3R WY, 9 30 FRA A Io
ST U= Dl UgHR 1Y I 9 a1d R HT S@X 9413t
UH: Hfd & AR IaH & gid 82

1. S FR7=0 & RIR 81d |

2. St Ad-¢4id A B |

3. O §R BT H W @l 6 |

4, S EARNT GU H GG & |



Correct Answer :-
. S &R BT H A X8 B

3) TH QI B T g, 3T Tg1 bl Igl 9l

TR T STETH ATY TAT, §H Y ST oIgl 9ad

3TT FIHR I B, 3T T 95 =t onft

|49 $5d 81 78 Y, 3R TH Y AT, gl 9a

o oM T2 wa A YBY, 99 T § 39T T

ST & IUPT S AT T, T Y 37T $5 3T 7@

&l a1d e, & 1 G, O 9 R R po g

B PR GI-g:T P Yl I, gH TP T A g aa

&4 Pl 3t g §, o geres WR 9w

T To Il SR IR, & Sw el BT UIR Id

B9 A 3R, 3 AR, oft WR HR A Wd g

T 5Hd gud 3HTS FgT, AT Y el 1R It

S YT 3R TRTAT T, TETG @ $H+ AT

&9 W0 99 9 3R WY, 9 U TRA At I

ST UL P UgHR 1 IR WH a1 U= BT @ a1s¢|
T=H: A N @ 3R g T & g FA i {2
1. SR1-91 didl §

2. THDHR 3R Tol AP

3. G DI W

4. SIgX B Rg

Correct Answer :-

. THP 3R AV AP

4) TH Tl B T EA, 3T Tg1 Bl dgl et
TR T TEAH ATY TAT, §H Y SSTd o6l 9t

3TT FIHR I B, 3T T 95 gt onft
Td B €1 8 Y, 3 g9 HA 1Y, el 9a

fra 3R a2 71 a A YD, 9 9971 § 39T 9d
T | I9PT B AT TQ, S P v $O feu 9@
S o, Ao g, 9o 8 R e o I



BP B YE-§:W & Yl P, g7 TP YT A fFig o«

& firge i & g ¥, o geray wR 9d

T U@ I SR WR, & Sw el BT UIR 9d

&9 U R4, 3 3R, St WR R gade 9 gb

TH 3O S TS TET, UTO &t Tl B =

& YT 3R TR 1, TG I3 ¥ AT

79 W0 9 3 3R WY, 9 30 TRA A T

IuYed Ui &1 Ugh? 1 Y oM 91d U= $T S« 9a13¢ |
W: At | SfiH aTet 9 @R | BT WG A1) U S
1. 34T &I

2. g HId &I

3. UHS &l

4, QKA B

Correct Answer :-

. GHS @I

5) B ¢IaT] @1 T g%, TS g1 Bl ael Il

TR BT SATAH Y °ST, §H Y ST ogl 9a

3TT FAHR I B, 3T T 98 =t onft

|9 BEd €1 I8 T, 3R TH FA Y, Hgl aa

51 3R To 7d A UB), 9 IO & sEE ga

T | I9PT B T 79, S P U1 PO feu IR
&1 91 BT, g 91 AT, PO 74 3R R Fo Y

TP B GE-§:T@ P Yl Bl, g0 TP UG I U a0

7 firgw i & g 3, o= geray wR 9d

T U@ I SR WR, & Sw el BT UIR 9d

T HIF Xed, AUH IR, Sft 1R HR gAY A gb
TH 3O S TSI TET, UTO &Y Tl B =

S YT 3R TR T, TG @ ¥ AT

79 W90 9 J 3R WY, 9 30 TRA A T
IuYed e &1 Ugh? R Y oM 91d U= $T S« 9a13¢ |
WH: §H TP AR 3 SR R | o e B2
1. 9 Y B 6



2. T R 3ffHe 3™
3. 384 & fA=m
4. S B Slea

Correct Answer :-

. TaO W 3HfHe BT

6) T <IaT] @} T 5, 3T g1 Pl dol Il

TR T SATAH Y =T, §H Y ST ogl aa

3T FAHR I B, 3T 7 95 =t enft

A HEd 81 38 Y, 3R T 4 31T, 71 7t

59 3R 9a 7a A YS!, 99 Ia-T @ g ad

T & IR O T TQ, S P U1 $O feu I@

3 91 FE, 3 919 T, TV § IR R g A

TP Y GU-g:W P Yl BI, g0 TP UG I R aa

&9 figw & g ¥, o= gera WR 9d

B9 TS R SR IR, & ol BT YR I

TH 91 Xed, 3T R4, St WR R Gad: Jd g

T A I TSl Tt WIoil B aToh BRI

T YT SR URTAT T, TG T $b+1 Tl

T4 W90 9 J 3R WY, 9 30 TRA A TA

ST U= $ Ugdh A2 IR W 91d U= BT Sk 9a13¢1
WH: S § Al $d SRS Alfad g1 ol 82
1. Had o MY TR g & ot ek @ B

2. Had T 3T IR BT 7S ISTd 3|

3. e oIe 37 g T AN P I g B

4, Iugad Tt
Correct Answer :-

- Sugaa

7) U T Bt T g, 3Tl 981 vl a8l 9d
T BT SATAH 1Y °T, §H Y ST ogl 9a
3T DR I B, 3T 7 95 =t onft



HY $Hgd 31 T8 T, 3R gH I 3¢, Bl 9

fra 3R Id? 7a A YS!, 99 9941 § ST 9d

ST & IHPT S AT T, ST Y 37T $5 3T 7@

<l 91d B8, 31 a1 G, PO §9 R R o Y

BH PR GI-g:T P Yl I, gH TP HT A g aa

& Rrgw 91 gfar &, @o< gerar R 9d

T Te Il SR W, & Swdl BT UIR Id

9 A 3R, raH AR, oft WR HR A Wd g

T 5Hd gud 3HTS FgT, UTUN 1 JTelt 3R It

S YT 3R TRTAT T, TETG @ $H+ AT

&9 W90 99 ¥ 3R WY, 9 U TRA At I

ST UL P UgHR 1 IR WM 9T U= BT @R a1s¢|
W 1M & T TH & 91G ST WIS TR 1 Bl 82
1. §Td

2. et

3. RT3
4, AHAT

Correct Answer :-

8) TU ATl 31 T N, ST Ig1 el a5l It
TR T T ATY TAT, §H Y SSTd oIgl 9

3T FIHR I B, 3T T 95 =t onft
|9 $Ed 81 ¥E Y, 3R TH A M1, Fgl 9l

fra 3R Id? 7a A YS!, 99 991 8 ST 9d
T A SHPT $© g 9@, s 3t s oo fig T«
3 917 T, Q 919 N, O 79 SR e po A
TH PR GI-g:T P Yl I, TH TP UG A g aa
&4 Rrgw 91 gfar &, @o< e R 9d

T To Il SR WY, & SBdl BT UIR Id

&9 A e, 3aH AR, St uR FR gaee 9d g
TH U g 3T IgT, WUl &% aTohl §1R It

3T YT 3R URTAT T, TG TG - arel



BH W0 99 ¥ 3R T4, §H U4 TR dis Id

ST UL P UgHT T IR M aTd U= BT I qarge |
W=: A B8l W fhd e ugad 82

1. gl BT RE

2. TH BT RE

3. RN Bl RE

4. I Dl TG

Correct Answer :-

o I DI dB

9) T laTl & T &I, 3T Tg1 &l dgl det
TRl BT SATAH AT ST, §H Y ST gl 9a

T T Ieard B, SRy s 95 9a enft

|4 g €1 T Y, 3R TH S Y, FgT 7

fr ok o> Wa & OB, 99 To ¢ saig 9w

ST & IR PO I Td, ST P U $O feu I@
1 9Td B, 3 9T G, PO § 9 SR R po AN
TP X GU-g:W P Yl BI, 0 TP U9 I R aa

& Rraw &t g |, o< geras uR ad

TH TS I SR WR, & Srwadl BT YR 9o

BH 9 Xed, 39 R4, St WR R Gad: Jd b
T 0 g9 TS FgT, YIuN B arelt gR Td

3T YT 3R URTAT T, TG TG b arel

&9 W0 99 J 3R WY, §9 IUH TRA A 99

ST Ui F UgH? 1 IR WM aTd U= HT S qarse |
WA I $E A A1 § o fpd a2

1. AG P @

2. UgHH & Rg

3. 9 Bl IRG

4. QRA DI ARG

Correct Answer :-

4

. A DIRE



10) T ST B T T, TS g1 Bl dol 9l
T BT SATAH 1Y IS, §H Y ST ogl 9a

3TT FAHR I B, 3T T 98 =l enft

H9 BEd §1 I8 MY, 3R TH HA MY, Fel 7

51 3R 702 71 T UB), §9 IO & gAY 99

T & I9PT B T TQ, S P U1 PO feu IR
&1 91 g1, g 91 AT, $O 79 3R R Fo Y

TP B GE-§:T P Yl Bl, g9 TP UG I U a0

7 firgw T & g ¥, o= geray wR 9d

T U@ I SR WR, & Sw el BT UIR I

&9 U R4, 31U 3R, St WR R gaae 9 gb
TH 3O S TSI TET, UTO &Y Tl B =

S YT 3R TRTAT T, HTETG I3 ¥ AT

79 WU 9 3 3R WY, 9 U TRA A T
ITYed Ui &1 Ugh? R Y oM 91d U= $T S« 9a13¢ |
W 9 U $T 3 e qage?

1. TSI

2. BIhTHI!

3. URN-3IRH

4. ST BT g

Correct Answer :-

. ol &1 gl

11) B9 ST B T 5%, TS g1 Bl G619l
T BT SATAH 1Y °ST, §H Y ST ogl 9a
3TT DR I B, 3iTg T 95 =t onft
|9 BEd §1 I8 MY, 3R TH HA MY, Fel 7

51 3R T2 7d A UB), §9 IO & sERg 99
T | I9PT B AT TQ, S P U1 5O feu IR
&1 91 a1, g1 91 AT, PO 74 3R R Fo Y
TP B E-§:T@ P Yl BI, g0 TP UG I U aa
& firgw T & g ¥, o geray wR 9d



BH U (R ST R, o S edT &1 UR Il

TH 9 Xed, 3T IRd, St WR R Gad: Wd &b

TH SO S TSI TET, UTO Y Tl 3R =

S YT 3R TRTAT T, TG I3 ¥ AT

&9 WU 9 A 3R WY, 9 30 FRA A I

ITYed Ui &1 Ugh? R YD WM 91d U= $T S« 9a1su|
ULH: Garl ot fdt a1a &1 a1 =61 gan

1. STaG Dl

2. dBHch

3. ST AP TN

4, Heflel

Correct Answer :-

12) &9 <l &1 T g, TS IgT b I8 9

T BT SATAH 1Y °ST, §H Y ST ogl aa

3TT DR I B, 3T T 95 =t enft

9 BEd §1 I8 T, 3R TH FA Y, Hgl 7a

59 3R T 7 T USY, 99 o1 ¢ ST Td

T & I9PT B T TQ, S P U1 $O feu @

& 91 FE, S 919 T, TV 5 IR R g Ay

TP B GU-§:W P Yl BI, g9 TP UG I U aa

&4 fae &t g 4, o< gerer wR Id

Y TH A= S WR, @ 3P ad &1 UR Id

TH A XRd, 3T IRd, St WR R Gad: Wd &b

TH 3O S TS TET, UTO Y Tl 3R =

S YT 3R TR T, HTETG @ ¥ a1

79 W90 9 J 3R WY, 9 30 FRA A I

ITYe Ui &1 Ugh? R U oM 91d U= $T S« 9a13¢|
U=: &l laM gid & 9 fdt s wr off 7 gerd 32
1. ¢H-grad

2. 01091

3. dHd



4, WG WR

Correct Answer :-

. WG WR

13) B9 ATl &1 T I, TS TgT b agl ad
TR BT SATAH 1Y =T, §H Y ST ogl 9a

3TT FAHR I B, 3T T 98 =t onft

|9 BT §1 I8 Y, 3R TH HA MY, Hel 7

5 3R 7o 71d A UBY, §9 IO & sEg 99

T | I9PT B AT 79, S P U1 5O feu @
& 9T FEl, S 919 T, TO 79 iR R g Ay

T PR GI-g:W P Yl I, TH TP UG A g Ta

& firgw T & g ¥, o= geray wR 9d

T U@ I SR IR, & Sw el BT UIR Id

U U Xfed, U R4, Sft WR $% gass Id &
TH 3O Sd TS TET, UTO &Y Tl B =

S YT 3R TR T, TG I3 ¥ AT

79 W90 99 3 3R WY, 9 U TRA At I
ITYed TEi &1 Ugdh? R Y oM 91d U= $T S« 9a13¢ |
URH: 39 HAdT & AR faelt oft fezm & @ar & &1 9 fieft 82
1. Il Xg BT

2. 91 A &1

3. 3{RTH H BT

4. %% g BT

Correct Answer :-

14) B9 ATl &1 T I, TS TgT b a8l ad
TR T STETH ATY TAT, §H Y ST oIg1 9ad

3TT FIHR I B, 3T T 95 =t enft
|9 BEd §1 38 MY, 3R TH HA MY, Fgl 7

o oM T2 wa A YD), 99 T § 39T 7

S ¥ SHDT P NG T, S PH 30 99 g



G 9Td Pal, &1 91 G, $O o SR TR po Y

TP T E-§:T@ P Yl Bl, g0 TP UG I U aa

& firgw T & g 4, o geray wR 9d

T To I SR WR, & Sw el BT UIR 9d

T HIF Xed, AUHT IR, Sft 1R HR gas? A gb

TH 3 S TS TET, UTO &Y Tl B =

& YT 3R TR T, HTETG @ ¥ AT

&9 W90 9 3 3R WY, 9 37 TRA A I

Iued e &1 Ugh: R Y oM 91d U= &7 S« 9a13¢ |
T Wi SRTelt T F ¥ 3 W A 1 R 35 B2
1. 3A-STA GA B |

2. T Hold HRd 5 |

3. ST B B

4. FFAIEFO oA g

Correct Answer :-

- FBAIC DB Ad o

15) B9 ATl &1 T i, TS TgT b agl aa

TR BT SATAH 1Y =T, §H Y ST ogl 9a

3TT FIHR I B, 3T T 95 =t onft

|9 BEd 81 I8 T, 3R TH $A AT, Bl 7

51 3R To 7d A UB), 59 IO & sEE ga

T | I9PT B AT TQ, S P U1 $O feu IR

& 9T FE, S 919 AL, TO 79 IR R po Ay

TH PR GI-g:W P Ul I, TH TP UG A g Ta

g firgw i & g ¥, o= geray wR 9d

T To I SR W, & Sw el BT UIR Id

U 91 Xed, U ¥R, Sft UR $% gass Id &

TH 3 S TS TET, UTO &Y TSl B =

S AT 3R TR T, HTETG I3 v AT

79 W90 9 J 3R WY, 9 37 TRA A T

IuYed TEi &1 Ugh? 1 Y oM 91d U= $T S« 9a13¢ |
TR: B 7 30 3 BT I 3R AM BT <3G T B I8 THT Tl H3T 82



1. T I 1 3R favg g &1 Ui o |
2. YN G W EehI AT g

3. 39 off TE} TeRIaT ]

4. 399 RR 78 ga~mar g

Correct Answer :-

. e S &1 8k fake g9 &1 Udies § |

16) it W wure o fafte enf¥fer aads, urfifer Tyer, fafte wrars gl fafte Swpfaay sk sfaal
Tt Hieeift &1 39 Tu Ft fAfaear sga &1 afe ffyuarsy ara feeh ot v & Al snffe aas,
yiffe wgera, faftra utog e, fafira Srpfoal ok wfaat &t dight @) 39 Tue @1 fafauar sga
&1 afe fafauaraelt arl 321 ) a1 B oA A HRA A 9ga) ISEX0T 3R DI e & Tobdl| YR d ghaT &
AT Gt gRer 4wt o1 A aTd @ ¥Ed 8 | URd ® §9TRT HTHTE, SIeT-SaT |1 UTH, SeT-SaT
TR 3R TRE e B IPla 3@ P et 3

TR fAHTS 3R Ieifa: S1fdT & it faer & Rigid & sgar s 9 fbe gar § adl Rigr e
ITaT 81 agsEl Y RieT veA & o onfifes w0 A avaat et gidl 31 enffe arat & auTe § Sun R
UTed 81 Tt 21 3fer # 3R As! Sarevur € R onfife w0 & dud ¢ 7 ofife $u 4 $reik e w®
A fPaT1 AT saferd forar sirar AT arfer wameE 3R =fdd & Hidl WR TRIfUeR S99 8 9F | JHIfore
fafaear &1 weFifa o aiom 9 el w R wrar g, ) FefafRe §: s sa e R R swarg &
T ST TS U @) f59 U § A4 g1 afe @R 3= 3y &1 fafkry #r=A @va € Y 1 |

T fafaerar &t war ur giRea g) STt 81 IeHar fadt Iger 3t w1 B fh avE I i ad 7
ot Ter @1 9 R WRER Bt ulafean gt 31 afe fed ager @1 wiv & 9 a8F | 9
ST € ) S99 IS 9 9941 2

YRA & YT JUf & garfasd ot S aawdT a1 At TS SaR T9 it $1 & YR WR IR TYgI A
dier 7t 4| faft 3t var 78 @ 1 oot ware # it syawn < dfes awa dian & 9y e w1
ST a1 ot FrawT fawRia g3 ol 59 91a W nutia g % fsdt aafea &1 o0 fory wnifar & gam 21 sidisht
EPUA & YUTT & HRUT R HRA § 3TA aTelt TRPRI @1 IgRard) Hifaal t adtaa st I siftre i
YfI® e T BRI IoM @it | 39F Srarar Wigar 7 ot wue # SEwdr am &1 &1 fHan 31
g gral A U353 gu ail A SReear haM &1 a0pR o fur| 39 ufumy e 3@ & ia R 8118
39 91 A Y41 9ad1 @ [P P T &9 Aa1 SUR X ArA M & St St wifar & 1Y & | 9wt & g i &y
1§ ASIER &A1 8 dichad PT 3l Aaad giaT g1 TSl HRd § JHTS & ATHIT g2 a1 BT ufaf-fire
WPHR A 3T F! firerar 31 3ARIT g0 $8 994 § 5 yRd T8t arM # ta aiddd 99 @1 81

ST TR $ UgH - U T U= $T I«ik qarsy|

L: STfd & wite faeTa & Rigia & SR, gaTe § &I Riar 38 uran 82
1. @G

2. S g fohe &Y

3. S gax 8l

4. S HHIR B

Correct Answer :-

. S ge fhe |l

17) fareft oft urer ® fafr enfe qass, enfife e, faftra wmars aue), fafire dwpfaal siv sfaal
T i 3 3T T B fafdear sga §1 afe Rfauarst o 3z 3 a9 91 9 @ YR A TR



ISTERYT 3R HIS T8 8 WehaT| URd ¥ giar & Tret Wl ger owf &1 == ard @i g &1 URa 3§
ORI YTHTY, 3(ERT-3ET [T UTH, TT-3ERT TIRITH 3R a¥8 a8 &1 Wpfd ¢E $i fyadt 21

TS fauTe SR Trorifa: S1fdT & witre fasra & Rigia & sgaR ot Jad fbe glar @ a8 Rigr @
grar 8 1 7wl Y foigr 381 & i enfifer &0 & araat w1 gt 31 onfifes araet A wurer o Sar v
T g uraT 21 3faery # 3 Aes) Serervr @ foraw onfife v & Wud e A e 7 d $3eik e R
A fPar| AT saferd forar sirar AT a1fer wameE 3R =ifd & Hidl WR THIfUeR S 8 9F | e
fafaear &1 weFifa o gy 9 el w R s, S FefrfRe §: s sgad R R swarg &
T =it TP U @) f59 U § A g1 afe @R 3= 3y &1 fafkry #r=A @va € Y R |

T fafaear &t war ur iR g) ST 81 IeHar fadt Iger 3t 1 B fh avE I i ad 7
ot Ter @1 9 R AR T Bt ulafeear gidt 31 afe fad ager @1 9iv & 9 a8d | 9
ST € ) 39N IS 9 991 2

YRA & YT Juf & garfasd ot S aawd1 a1 A 3ud SaR T9 it S/ & YR R IR Y1 A
qier Tt 4Tl fdt 3 var 8 @ 1 oot ware # it syawn <& dfes awa dian & wry e w1
STt a1 quf FrawT fAwRia g3 ot 59 91a W nutia & % fsdt aafea &1 o= fory wnifar o ganm 31 sidisht
FPUA & YUTT & HRUT 3R HRA § 314 aTelt TRPRI B1 IgRATd! HHfaal 3t adtaa st I siftre
MY R &1 Braer 38M il 39% 3rarar Hifsar A +ff U # SwRewdr bam &1 e fear 39
g gral A U133 gu al A STReear haM &1 a0pR o far| 39 ufumy @ 3@ & ia @ §1 18
39 914 9 UdT 97 @ 6 7 3 &g A1 IHR I 9A 3 § i St oifd & 8 § 1 TS & g% ¥ &I
T H AEIGRY 31 € W da BT 3RTell Haad 8IdT &1 TSl HIRd § HHIS P AMHT 8% 91 BT ufafAifie
WPHR A 3T F! e 81 AR g0 $8 994 § 5 yRd T8t arA # ta aiddd 99 @1 81

ST TR F UgH - U T UY PT I<R Ja13CI

wz: fedt ware § fafia sifa, ot i enfife ag & @i &t &1 wgd 32
1. IR fapTy

2. GHTS 1 fafaedr

3. ST BT fapT
4. FTHTNG T

Correct Answer :-

« A P fafaear

18) Y Wt wurer & faftrs enf¥fer aad, unfifer Tyem, faftm wrars g, fafte dwpfaay sk sfaal
3 diceh o 3° T B fafderar sga §1 afe fRfauars o 3z @) a9 91 9 @ YR A TR
JETERVT 3R HIS 161 8 TpaT| YR H gfan & v it g1 4wl &) 7= ared @ v8d 81 WRa &
BOIR] YTHTY, 3(ERT-3ET W UTH, TT-3ERT GIRITF 3R d¥8 a8 &1 Wpfd ¢E $i fyed 21

TR fAHTS 3R Ieifa: S1fdT & it e ¥ Rigid & sgar s 9 fbe gar § adl Rigr e
uTa 81 agsEl Y RieT v & o enfifes w0 @ avaat et gidl 31 enffer arat & TuTe § S R
oI 8 uraT 31 3fae § 0 Aps! Serevur & foraw onfifer =  wud e A nfie * 7 A FHeIR @ R
A fpar| AT saferd forar sirar ot arfer wameE SR =ifdd & Hidl WR TRIfUeR S99 81 9F | JHIfore
fafaar &1 weFifa o aiom 9 el w R wrar g, ) FefafRe §: s saae R R swarg &
T ST TS U @) f59 U § A g1 afe @R 3= 3y &1 fafkry #r=A @va € Y R |

T fafaerar &t war ur giRea g) ST 81 IreHar fadt ger 3t w1 B fh avE I 0w ad 2
ot Ter @1 9 R WER Bt ulafean gt 31 afe fedl ager @1 wiv & 9 a8F | 9
ST € ) S99 IS 9 991 2

YRA & YT JUf & garfasd ot S aawd1 9+ A TS AR T9 it 1 & YR R IR TYgI A
dier ar 4| fadt 3 var 78 @ 1 oot ware # St syawn < dfew awg dian & 9y e 1@

STt a1 ot FrawT fawRia g3 ol 59 91a W Snutia g % fasdt aafea &1 o= fory wnifar & ganm 21 sidisht
U b YUTT S HRUT R URA | 3T qTell IRBRI Bt SgRATd! Hal &t agterd ifiew & siftre ahr



YFIF g T BrIeT Io™ @t | 3TF rarar Hifsar = ot Jur § e wdr bam &1 &1 fBan g7
9 9rdl A oS g A # SRedar Bam &1 IHPR PR 3411 39 ufRony 39 ¢E & e @ 81 a8
39 919 & UdT gord € P &% 8 &9 Ad1 SHR B T Ml € it St oifa & 181 § | WHIST & Y a7 B
T H AR 31 € hda BT 3RTel Aaad gidT 8| TSl YIRd § HATS $ AT 8% 91 PT ufafAfeea
WHR § @ oI fraar 81 SARIY g0 $8 Iod ¢ 5 YR 981 9 ¥ Ue didbda 99 38T 81

ST TR P UGHR 12 IR T U= $T Sk ga1s¢|

U= 3 ¥ A Holgd 9qg, e 0 ¥ FHWR T UR FT T 872
1. g8-FyRo

2. P ol

3. A

4, TR

Correct Answer :-

19) it ff T & fafte enf¥fer aads, urfifer Ty, faftm wrars gl faft Swpfaay sk sfaal
1 Mg #Y 39 Tu # fAfyudr sgd €1 afe Rfyeuarst ar 3= $t a9 @ 9 @ YR 9§ Jga
IETEX0T 3R BIS TEY 8 Tl | YR § gfam & aryw a3t g1 ol &) A= arel @ vd 81 WRa &
ORI UTHTY, S-S T UTH, -3 YR 3R a8 dRE DI IXPpid @ $i el 3|

I AU 3R Teifa: S1fdT & witre fasra & figia & AR o 9ad fbe giar ¢ 981 i
grar 8 | Al Y foigr 381 & i enfifer &0 & araat A gl 81 onfife araet & wure °f Sar wiH
T & uraT 21 Sfaer # ¥ dps! Serevur ¢ foraw onffe w1 & wud e 7 anffe +7 A FHeik e )
A fPar| 9T 3aferd foar SiTaT o1 a1fr w3meE 3R 2fdd & Hidl UR TRIfUPR SO 8 9P | JHIfSH
fafaear &1 Teifa W afRome 69 Tl w AR srar g, st e §: se s ad w AR svar g fo
RT3 TS U @) f59 U § A §1 afe @R 3= 3y &1 fafkry wr=A @ € Y 1 |
arfore fafaean ot war = giRea gt orar @ 1 e (i agera & i o1 R @ | iwr aea 7
<t e F i R R B Bt ufafear gt 31 afe feedt wyer &Y win &t wd a i Q arn
ST 8 ) 39N IS 9 11 2

YRT & YT 3} & Garfas St Aifa sgawit a1 2t 3UF AR JUS & FT4 & YR TR IR J981 3
qier T 47| fAf Bt var 181 3 % oot T & it et <t Afe awg S & ary v Ot
wiifer o qof sgawT e g3 <t 39 a1 wR smenia & % fodt safaa &1 o0 fpw onfar & gam @1 oRish
B S YU F PRI 3R YRT & 3 arelt IWHRY Bt Igrard! Hifaat & adiaa siftre J siftre &
YFI® e T BrIeT Io™ @t | 3TF Srarar Hifsar = ot Jur § e wdr ham &1 &1 fBan g9
9 9rdl A IS g A # SReddl Bam &1 IHPR PR 3411 39 ufRond 39 ¢E & e @ 81 a8
39 91d @ U1 Tordl ¢ b S ¥ A1 A1 SUR B AW 3l § i St winfa & A €1 WSl F g i Bt
T H SR 1 § ANB T BT T T g 81 TS YR H TH F AT g% 971 &1 ufafiftra
WHR & T F! fArerar 81 3 g0 &8 I9d ¢ % YRd 9 A § U A 949 T 8

ST TR P UG 12 IR T U= $T Sk ga1sC|
UL 3 TRaPt A IS H1 Fel FHa1 R frear 82
1. M o

2. AR H

3. GHTS

4. D H



Correct Answer :-

. gESH

20) fadt off T ® faftr snffe qass, enfife Tger, fafte wrers agel, fafira Txpfoml ik wnfoal
Bt dicgh ot 3T Tue B fafderar sga §1 afe Rfauars o 3z 9t a9 91 9 @ YRT A TR
ISTET0T 3R IS T8 81 WebaT| HRd # gferar & eyt Wt 1 owf & - ard @i 384 81 WRa
ORI UTHTY, S-S T UTH, AT~ YR 3R a8 dRE DI IXPid @ $i el 3|

TS fAUTeH SR Torifa: S1fdT & witre fasra & Rigia & sgaR ot Jad fbe glar § a8t Rigr
urar 8 | agwl Y foigr 387 & R e &0 3 araat w1 gt 31 onfife araet | wure §f Sur v
T &Y et 21 sfoery # 3 Aes! Seervr € foraw enffe w0 & Wud e A onfife ©u d $Ueik Te R
A fpar| AT saferd forar siraT ot arfer TameE 3R xifdd & Hidl WR THIUPR $1a9 81 9F | JHIfors
fafaear &1 weFifa wR aiomy fF el R R s, S Fefrf@e §: s saae R R swarg &
T ST TS U @) f59 U § A g1 afe @R 3= 3y &1 fafkry wr=a @vra € Y 1 |
arfore fafaear o war e gitwa 8t wrar @ 1 Iemar fe agera & i a1 R @ | iwr aea §
ot Ter @1 9 R WRER F Bt ulaferan gidt 31 afe fed ager @1 wiv & 98 afe I 9
ST € ) 399 IS J9d 991 2

YRA & YT JUT & Garfaed it S awdT a1 A TS AR T4 it S/ & ATYR R IR Y1 A
et T 4T fAf Y var 1) 3 % geandt T & it syt 1 Afe gwg fian & wry v O
ST aT ot srawT fawRid g3 ol 39 919 W SnutRa 8 ¥ farsdt aafda &1 o= forwy wnifar o gam 31 it
THUA & YUTT & PRUT 3R YRA § A aTell TRBRI B IgRATS e ot garerd ifis T e anr
MY e 1 Braer 38M it 39% 3rarar Hifgar A +ff gurs # wRewar bam &1 e fear 39
g g1al A U353 gu al & SRe®ar haM &1 a0pR & far| 39 ufiomy @ 3  fa R g1 18
39 91 | UdT Iddl g [ &5 T &g a1 SUR R 914 3 & St St Siifa & 81 & 1 9 & 8% aif &1
T § AISGRY 31 € Aiha= BT 3RTell Haad BT 8| 3T WRd H WHTS & T 8 ¥ PT ufafifirea
WPHR A 3T F! e 31 AR g0 8§ 994 § 5 YRd I8t arA # td daiddd 99 39T 81

IUYed TR B UgH R YD T YA BT I« qa13¢|

WH: IGRATE! Hifadl 3t getad HIS-J-3HfIe a1 fFas! g o™ T2
1. URTRS fRrem

2. UTE =T

3. Y fRrar
4. 3o g

Correct Answer :-

. SYFE Rrem

21) =it off T ® faftr snf¥fe qass, enfife ager, fafte wrers agel, fafira il ik wnfoat
I Aigeift #1 39 Ju ot fafaear sga 81 afe ffyuarsy ar 3z 3 a9 $ 98 @ YR | TR
IETEX0T 3R BIS TEY 8 Tl | HRA § T & aryT 93t g1 ol o) A= arel @7 vd 81 WRa &
ORI UTHTY, S-S T UTH, AT-3ET YR 3R a8 dvE DI IXPid @ $i el 3|

I AU SR Teifa: S1fd & witre fasma & figia & SraR oY aad fbe giar 8 981 i
grar 8 | agwl Y foier 381 & i enfifer U & araat A gt 31 onfife araet | wure §f Sur v

T &Y et 21 sfoery # 3 Aes! Ieervr @ foraw onffe & u & Wud e A onfife ©u d $UeiRk Te R
T o | O sferd T SrdT ot a1fss |aTeA 3R Wik & Hidl IR THIIPR $1aH gl IP | ATHIND
fafaerar &1 eFifa wR ufvoma 69 aral w Ak sear @, ot Fefaf@e & s s R ARk srarg &

AT 3rU- FrHTTE UgE & 59 U A A &1 afe &l 3rue 3y o ARy Ara @ € o 99 |



T fafaerar &t war ur giRewa g) ST 81 IeHar fadt Iger 3t 1 B fhy avE I i ad 2
Pt ayer ot 9 R WRER $1 F! ufafsear gt 71 afe fodt ayera ot A4 ot w8t o | am
1T 8 O 3UR ASHIfa gad g4l 3|

YRA & YT Juf & garfas ot S aawd1 a1 A 3% AR T9 it S & YR R IR TYEI A
qier ar 4Tl faft 3 var 8 @ 1 oot ware # Sft syawn < dfes awg dian & 9y e w16
ST a1 qut FrawT fawRia g3 ol 59 91a W nutia g % fsdt aafea &1 o= fory wnfar o ganm 21 sidisht
U & YU F HRUT R URA A 3T qTell IRBRI Bt SgRaArd! Hal &t aSterd ifirew & siftre ahr
YfI® e 1 Braer IoM @it 39& Srarar Wigar 7 ot wur # wrrEwar am &1 w1 fBan g9
g 914l 7 fUes g A # SRe®al Baq &1 IHPR R 8011 39S TiRond 39 ¢E & e @ 81 98
39 919 ¥ UdT Iad1 & f $3 0 &g Aa1 SWR B A 3 @ o St wnfa & 18 &1 9 & g @t bt
T H ASER &1 8 dichad BT 3Tel Aaad giaT g1 TSl HRd § JHTS & ATHIT g2 a1 BT ufaf-fire
WHR H @ o1 fAraar 31 AR g0 $8 Iod ¢ % YR 98l 9 # Ue dldhds 94 8T 2

ST TRl $ Ugh - U T U= $T I«ik qarsy|
wH: HfEar A gure § w1 bas &1 w1 fear 82
1. Y §1d

2. d=dl

3. VIMR=hdl

4. AT AT

Correct Answer :-

22) et oft e & fafta onffe aads, urfife wgemr, fafta urers Tvgl, fafim dpfaal shw st
Tt Higg it &1 39 JUS ot fAfaea sgd &1 afe Rifyuarsi are 3z # a9 @1 97 @ YR I IR
JeTE0 3R IS 8T 8 FPaTl YR H giorar & TRt Wit ger ol &1 7= ard @i 8d 81 HRa |
ORI HTHTY, 3(ET-3ET W UTH, 3(T-3ET TR 3R a8 dve B! IPpla 3@ P et 31

TS fauTer SR Torifa: S1fdA & wftre faera & Rigia & saR o 999 fbe giar @ a8 Rigr @
ITaT 81 g%l B RieT w8 & o enfifes w0 A avaat et gl 31 enfifer arast & Tute § Sum i
T &Y UTaT 81 sfoery # i Aes! Sarevvr @ ford onffe &9 @ Wud 7e A onfife ©u 3 ek Te R
A fPar1 9T 3aferd forar ST o1 a1fer wame= 3R =ifdd & Hidl WR TRIfUeR 19 8 9F | e
fafaerar @1 IeFifa wR ufvoma 69 el w Ak e g, o Fafafe §: wsu s R AR srarg &
T 3O FHETTS Uga &) 59 U A ad 1 afe ol 3ru= 3y o faflRy A= @ € o 09 |

T fafaerar &Y war ur giRewa g) ST 81 IeHar fadt Jgera 3t 1l B fh avE 3 9w ad 2
ot Ter @1 9 R WReR Bt ulafear gt 31 afe el ager @t wiv o 9 a8F | 9
7T € ot S9N SIS 9 g1 8

YRA & YT JUf & garfas ot i aawdT 9+ A 3TF SaR T9 it $1 & YR R IR TYEI A
et T 41| fAd &Y var ) 8 % oo gure & St eyt ot dfr gwa fiaq & 9y ue Ol
ST a1 ot FrawT fawRia g3 ol 59 919 W Snuta 8 % fsdt aafea &1 o= fory wnfar o gam 21 sidisht
EPUA & YUTT & HRUT R HRA § 31A aTell IRPRI @1 IgRard! Hfaal 5t adtaq st I siftre
YfI® e T wraer IoM @it 39& srarar Wigar 7 ot ur # SR war am &1 w1 fHan 39
g g1l A fUSS gu aiil & SReEdar BaM $T aUPR & a1 $9F TRomy 3@ 3@ ot ia @ 138
39 91 A U1 9ad1 @ [ 5 T &9 Ad1 SUR T ArA M & St St wifar & 7Y & | ISt & g @i &y
T § ASIERY &1 8 dichad BT 3Tl Aad giaT g1 TSl HRd § JHTS & ATHIT g2 a1 BT ufaf-fire
WHR ¥ W o1 fAraar 31 sARIE g0 $8 Iod § [ YR 98 9 # Ue dldbds 949 38T 81

ST TRl F Ugh - D T U= T I«ik Tarsy|
= gfe fHlt Ter &t wi &) T8 aiF I A1 16T 8 9 39 I /a1 St 82



1. GYyy

2. 94

3. 99
4. JERUGIA

Correct Answer :-

23) fadt off T ® Al snffe qads, enfife ager, fafte wrars agel, fafira il ok wnfoal
F1 Mg #Y 39 Tue # fAfyuar sgd €1 afe Rfaearst ard 3= $t a9 @ 9l @ YRa § JgaR
IETEI0T 3R BIS TEY 8 TPl | YR § gfam & aryw 3t g1 ol o) A= arel @l vd 81 WRa &
ORI HTTT, 3IET-S(T W U, ST-3eT NI 3R e e 3! IPpid g@ & fradt 31

T AU iR Ieifa: S1fdA & wite faera & Rigia & gaR oY T fbe giar ¢ 981 Rier
qraT 31 a7 &Y foier T8 & i onffe w0 & arvaa! st gt 81 snfdfe avaat  qure ® Sar ==
T & uTaT 21 TR # U dps) Serevur & foraw onffe w1 & wud e A anffe +7 A FHeik e )
A fPar1 9T 3aferd forar SiraT AT a1fer wameE 3R Xfdd & Hidl UR TRIfUPR S1UH 8 9P | JHIfee
fafaear &1 Toifa W afome 69 a9l w AR srar g, st e §: se s ad w AR svar g fo
AT U TS UgE &) 59 U A ad g1 afe &l 3rue 3y o faflRy Ara @ & o o9 |
grTfore fafaear &Y war ur giRwa @) ST 81 Iremar fadt wgera 3t 1 @ fe avE | 9w ad 2
5t e 3 9 ) R B Bt ufafear gdt 31 afe feeht wyer &Y win ot w9 o Q arn
ST 8 ) 399 IS 9 g1t g

YRT & YT 3 & Farfae St Aifa saawit a4t 2t 3UF AR J9 & F1A & YR IR IR J981 3
et a7 47| fhf Bt var 181 3 % eandt T & it st <t AT awg fia & ary v Ot
ST ar ot srawT fAwRid g3 &l 39 91a W enuta 8 % fsdt aafda &1 o= fovwy wnfar o gam 21 sidsht
FEHT B YU S HRUT R URA A 3 qTell TRHRI Bt IgRard! Hfaat &) aSiera siftres 9 siftre @b
YFIF e BT BraeT Io™ @t | 3TF Srarar Higar = ot Jur ¥ SrEwdr bam &1 &1 fBan g9
9 91dl A oS g A # SReddl Bam &1 IHPR R 3411 39 ufRond 39 ¢E & e @ 81 a8
39 919 & UdT gerdl € P & 3 &g Ad1 SHR B T Ml § St et oifa & 18 § | WHIS & Y a7 B
T H AR} 31 § AP da BT 3RTel Aaad gidT 8| TSl YR § TATS F AT 8 91 P1 ufafifea
WPHR H 3@ F! e g1 A g0 5§ 9Fd § 6 YR I8t A ¥ Uh aiddad 949 397 81

ST TR P UGHR 12 IR T U= $T Sk qa1s¢|

U=: gfe @RT 3 3y &) ARy A= @ € o o1 @y § Us o 82
1. P Tehdll

2. T o

3. AT fafderdn

4, TS TR

Correct Answer :-

o grATfoie fafaedn

24) it o Ture ® faftra snffe qads, enfife Tger, fafte wrers agel, fafira Sxpfaml ok wnforal
1 Mgl &Y 39 Tue # fAfdudr g €1 afe Rfauarst ard 3= $t a9 @ 9l @ YR F Jga”
SETERV SR FIE T8} 8) apaT | W A g & vt et g 4wl #Y wr ard & e ¥ WRa &
ORI HTHTY, 3-SR W UTH, 3(TT-3ET TR 3R a8 dve &1 IXPpfa 3@ Fi e 31



I AU 3R Teifa: S1fdT & witre fasma & figia & SaR oY aad fbe giar 8 981 i
Trar 8 | Al Y foigr 381 & R e 0 3 araat w1 gt 31 onfife araet A wure W Sur v
T &Y et 21 sfoery # 3N Aes! Seervr € o onffe & u & Wud e A onfife ¥ U ek Te R
2T a1 T gaferd favan SiraT ot aifds TameE SR fdd & widl IR THIUPR H1aH 8 b | o
fafaeran &1 weifa w ufvome &9 aal ) ik srar g, ot Fefifea §: s e Rk srarg &
R 3T [T Uga &t f5a wu A A €1 afe A 3= ey bl AR R v g A dw A
arfore fafaear ot war urEn giRea gt orar 8 1 Iemar (e agera & i a1 R 9 | iwr aea §
ot Ter 1 9T R WER $t Bt ylaferan gidt 31 afe fed ager @1 9iv &1 9 afid & a9
1T 8 O 399 AoHIfd gad gl 3|

YRA & YT JUT & Garfaed it Sl aawdT g+ A TS AR T4 it $1 & YR R IR Y1 A
et T 47| fAf B var 1) 3 % geondt T & it st ot Afe awg fian & 9y v Ot
ST aT ot srawT fAwRia g3 ol 39 919 W enutRa 8 % farsdt aafda &1 o= forwy wnifay o gam 21 st
THUT & YUTT & PRUT 3R YRA H A aTell TRPRI B IgRATS o ot agrerd ifis T e anr
MY e 1 Braer 38M it 39% 3rarar Hifgar A ff gurs # swReear bam &1 e fear 39
g g1al A fUse gu al A SRe®ar haM &1 a0pR & far| 39 ufiomy 3@ 3 o fa R §1 18
39 91 A UdT Iddl g [ &5 T &g a1 SUR R 94 M § St St Sifa) & 81 & 1 JH & g% aif &1
T § AIGRY ST € Aiha= BT 3RTell Haad BT 8| TS WRd H WHTS & T 8 ¥ HT ufafiferea
WPHR A 3T F! e 81 AR g0 8§ 994 § 5 YRd I8t arM # te daieds 99 3T 81

S T B UGHR - I T YA BT Ik 13T

T ST 3R fd & Sl W TIPSR & T g I $HER TR AT Hdl 82
1. QR T

2. 3§

3. s g
4, A DY R

Correct Answer :-

. TTBYTR

25) fadt off T ® faftr snffe qass, enfife Tger, fafte wrars age), fafire Txpfoml ik wnfoat
T il o 3T Tu B fafderar sga §1 afe Rfauarst o 3z 9 a9 91 9 @ YRT A TR
ISTERVT 3R HIS e 8 Wehar| URd ¥ giar & amet weft g 4wt & 9= ard @i g @1 URa o
ORI UTHTY, S(CT-SET T UTH, AT-3ET YR 3R a8 dvE DI IXPid @ $i el 3|

TS fauTeH SR Torifa: S1fdT & witre fasra & Rigia & sgaR ot Jad fbe glar @ a8t Rigr
Trar 8 | 7wl Y foigr 381 & R e U 3 araat w1 gt 31 onfife araet & wure §f Sur v
T Y urar 21 sfoery # 3 Aes) Seervr @ foraw nffe & u & Wud e A e ©u d ek e R
oA fpam| AT saferd forar siraT AT arfer TameE 3R xifdd & Hidl WR THIUPR $1a9 81 9F | JHIfors
fafaear &1 weFifa o aiomy 9 el R R s, S FefrfRe §: s saaa R R swarg &
T ST TS U @) f59 U § A &1 afe @R 3= 3y &1 fafkry #=A @vra € Y 91 |
arfore fafaear wt war o= gitea 8t wrar 8 1 emar fe agera & i a1 e @ | iwr aea §
ot Ter 1 9 R WRER T Bt ulaferan gidt 31 afe fed ager @1 wiv & 9 afd | 9
ST € ) 399 IS J9d 991 2

YRA & YT JUT & garfasd it S awdT a1 A TS AR T9S it $1 & ATYR IR IR TYEI A
qieT Tt 4| fadt 3 var 7E @ 1 oot ware # it syawn <& dfes awa dian & 9y v =™
ST o guf sgawT faw e g3 ot 39 91 wR smenfa @ % fodft safaa &1 o= fpw onfar & gam @1 eRish
THUA & YHTT & PRUT 3R YRA H A aTell TRHRI B IgRATS e ot garerd ifis T e anr
YFI® e T BRI IoM @it 39F Srarar Wigar 7 ot wae # wrrEwdr bam &1 &1 fBan g9
g qral A fUse gu al A STReear haM &1 a0pR & far| 39 ufkomy @ 3 # fa R §1 18
39 919 & UaT gadl ¢ & #F U &g Ad1 SWR B AR 3l § St it oifal & 18) § | HST & Y a1 B



TT H TSR] 31 € dichdd BT e Adad gidT g1 3TN HIRd & GHIS & THIT g a1 31 ufaf~ifire
WHR H 3T o1 faar 81 33 59 #8 994 ¢ & YR & 7 # U Al a4 38T B

IUYd TR B USH 1 YD T YA BT I« qa13¢|

U sl 3 foier w81 & o enfife wu 3 w7 s gian 82
1. Hdald

2. AR

3. R
4. fawrg

Correct Answer :-

26) fadt off T ® faftr snffe qass, enfife Tger, fafte wrers agel, fafira Txpfoml ik wnfoat
Tt il o 39 T B fafderar sga §1 afe Rfauarsi o 3z @) a9 91 9/ @ YRa A TR
ISTET0T 3R IS 16 8 WebaT| HRd ¥ gferar & eyt Wl g1 4wt &1 4= ardl @i 384 81 WRa o
ORI UTHTY, S-S T UTH, AT~ YR 3R a8 dRE DI IPid @ $i el 3|

I AU SR Teifa: S1fdT & witre fasma & figia & SaR oY aad fbe giar ¢ 981 i
grar 8 | Al Y foigr 381 & i e U 3 araat w1 gt 31 onfife araet & wure §f Sar v
oI g utaT 31 sfoer A ¥R Aws! Igrevur § orad enfife wu  wud e 7 onffe U A $HeR e R
A fpar| AT saferd forar siraT ot arfer TameE 3R Xifdd & Hidl WR THIUPR $1a9 81 9F | JHIfors
fafaear &1 weFifa o aiomy 9 el R R s g, S FefrfRe §: s saae R R ewarg &
T 3T TS U @) f59 U § A g1 afe @R 3= 3y &1 fafkry wr=a @vre € Y 1 |
arfore fafaear st war o= gitwa gt wirar 81 e (e e & i o1 i @ | iwr aea §
ot Ter o1 9T R WRER $t Bt ylaferan gidt 31 afe fed ager @1 9iv & 9 afie & 9
ST & ) 399 IS 9 99t 2

YRA & YT JUT & Garfaed it Sl awd1 a1 A TS AR T4 Bt $1 & YR R IR Y1 A
et T 4T fAf B var 1) 3 % geondt T & it syt 1 Afe gwg fian & wry v O
ST aT ot srawT fAwRid g3 ol 39 919 W SnutRa 8 % farsdt aafdy &1 o= fory wnrfay o gam 31 st
THUA & YUTT & PRUT 3R YRA H A aTell TRBRI B IgRATG e ot garerd ifis T e anr
MY e 1 Braer 38M it 39% 3rarar Hifgar A ff U # swRewar bam &1 e fear 39
g g1al A U353 gu al A SRe®ar haM &1 a0pR & far| 39 ufiomy @ e # a R g1 18
wmﬁwm%%r&ﬁﬁmﬁmawmwm%wﬁwmﬁaﬁiﬁ%lW%?s?aﬁ'ﬁ
T H ATSIERT 31 €1 AP dd BT el Aaad il g1 3o HIRd | FHTST & T g1 91 1 ufaf~iferea
WHR ¥ @ oI fAraar 31 SR g0 $8 I&d § % YRa 98l 9 § Ue didbds a9 38T 81

IUYead TR B UgH R YD T YA BT I« qa13¢|
U= YR FATS § it el et 32

1. BIS &l

2. THE™

3. bl

4, TRG-IRG Bl

Correct Answer :-

. TE-RG &I



27) fait off Ture ® faftr snffe qass, enfife ager, fafte wrers agel, fafire il ik wnfoat
Tt dicgh ot 3T Tu B fafderar sga §1 afe ffauars o 3z 9 a9 91 9 @ YRa A TR
ISTERYT 3R HIS TEY 8 Weha| URd ¥ giar & amr weft g 4wt & 9= ard @i g @1 URa o
ORI UTHTY, S-S T UTH, 3T-3ET YR 3R a8 dvE DI IPid o@ $i el 3|

TS fauTe SR Torifa: S1fda & witre fasra & Rigia & sgaR ot Jad fbe glar @ a8t Rigr
urar 8 | Al Y foigr 381 & R e &0 & araat w1 gt 31 onfife araet | wure §f Sur wiH
T 8 urar 21 sfoery # 3 Aes) Seervr @ forad nffe v & Wud e A onfife ©u d ek e R
A fhaT| AT 3aferd forar siraT ot a1fer TameE 3R xifd & Hidl WR THIUPR $1a9 81 9F | JHIfors
fafaear &1 weFifa o aiomy 9 el R R s, S Fefrfee §: s saae R R swarg &
T 3T TS U @) f59 U § A g1 afe @R 3= 3y &1 fafkry #r=A @vra € Y 91 |
arfore fafaear st war o= giRwa 8t wirar @ 1 Iemar f agera & i o1 e 9w | i aea §
el wHera 91 A I’ WReR @t St ufafear g1 31 afe fef aaer 91 w1 ot a8 e d A
ST € ) 399 IS J9d 911 g

YRA & YT JUT & Garfaed ot S aawd1 a1 A TS AR T9S Bt S/ & ATYR IR IR Y1 A
qier T 47| fAf &Y var 1) 3 % geondt Turer & it et <t Afe wwg fian & wry v O
ST T ot srawT fAwfid g3 ol 59 919 W SnutRa 8 % farsdt aafdy &1 o= fory wnrfay o gam 31 st
THUA & YUTT & PRUT 3R YRA H A aTell TRBRI B IgRATS e ot garerd ifis T e anr
MY e T Braer I8M it 39% 3rarar Hifgar A +ff U # swRewar bam &1 e fearn 39
g g1al A fUse gu al & SRe®ar haM &1 a0pR & far| 39 ufiomy se e H a R g1 18
39 919 | UdT IadT ¢ fp $3 T & A1 SHR = ITHA 3 g St et Sifa & 78 &1 JHe & g O Bt
T § AISERY ST € Aiha= BT 3RTell Haad BT 81 3T WRd H WHTS & T 8 ¥ PT ufafifire
WPHR A 3T F! e 81 3R g0 $§ 994 § 5 YRd I8t arM # ta aiddd 99 39T 81

S T B UGHR - I T YA BT Ik 3T

U: URA & YT JUf & garfas oi=-wt sgawit s+t Atz
1. AT

2. YTt T

3. dTTR

4. ST SR

Correct Answer :-

o STfd FaRT

28) fadt off T ® faftra snffe qass, enfife Tger, faftm wrers Tgel, fafira Txpfaml ik wnfoat
Tt dicgh o 3T T B fafderar sga §1 afy Rfauarsi o 3z 9 a9 91 9 @ YRa A TR
ISTERYT 3R HIS 1LY 8 WehaT| URd ¥ giar & amet weft g 4wt & == ard @i g @1 URa o
ORI UTHTY, S-S T UTH, 3T~ YIRS 3R a8 dvE DI IXPid @ $i el 3|

TS fAuTe SR Toifa: S1fdT & witre fasra & Rigia & sgaR ot Jad fbe glar @ a8t Rigr
Trar 8 | 7wl Y foigt 381 & i enfifer &0 & araat w1 it 71 onfife araet & wue °f Sar wiH
T g urar 21 sfoery # 3 Aes) Seervr @ foraw onffe & u & Wud e A e ©u d ek e R
T fpar| AT 3aferd forar sirar ot arfer Tamee 3R xfdd & Hidl WR THIfUeR S 81 9F | JHIfoe
fafaear &1 weFifa o aiom 9 el R R s, S Fefrfe §: s sgaa R R swarg &
T 3T TS U @) f59 U § A4 g1 afe @R 3= 3y &1 fafkry w=A @vra € Y 91 |
arfore fafaear S war = giRea 8t wrar @1 Iemar fe agera & i &1 R 9w | iwr aea §
ot Ter 1 9 R WRER Bt ylafean gidt 31 afe fed ager @1 9iv & 9 afd I a9
ST € ) 399 IS 9 991 2



YRT & YT 3} & Garfas St Aifa saawit a1 2t 3UF gAR JU & FT4 & YR TR IR J9E1 3
qier T 47| fhf Bt var 1) 3 % oot T & it st ot A awg S & wry v Ot
ST ar ot srawT e Ria g3 &l 39 91a W enutRa 8 7 farsdt aafda &1 o= forwy wnfar o gam 31 sidsht
TPHA B YU F HRUT R URA A 3T qTell TRHRI Bt IgRard! Hfaat &) acied siftre 9 siftre @
YFI® e BT BrIeT Io™ @it 3TF Srarar Wifsar 7 ot Jur § e wdr am &1 &1 fBan g9
9 9rdl A oS g Al # SIReddar Bam &1 IHPR PR 3411 39 ufRony 39 3@ ) e R 81 a8
Y 91 | UdT Tordl ¢ B T &1 Ad1 IH X A1 Ml & St S ofay F 78 &) gwe v il Y
T H AR 1 € AP BT ST T gl 81 TS YR H THT F AT g% 91 &1 ufafiftra
WHR & T F! firerar 81 3T g0 o8 I9d ¢ % YRd 98 A § U didba 949 @1 8

IUYad TR B UgH R YD T YA BT S« qa13¢|

WR: YRd A gfrar & amur |t g et @) 9 At @ g 8
1. 94

2. Ty

3. 389

4. qarug

Correct Answer :-

29) fadt off T ® faftr snffe qass, enfife Tger, fafte wrars Tgel, faftira Txpfoml siiv wnfoal
I Aieeift #1 39 Ju ot fAfaear sga 81 afe ffyuarsi ar 3z 3 a9 € 9@ @ YR A TR
IETEX0T 3R BIS TEY 8 Tl | YR § gFaT & aryT 93t g1 ol &) A= arel @7 vd 81 WRa &
ORI UTHTY, 3-SR T UTH, AT-3ET YR 3R aRE dRE DI IPid @ $i el 3|

I AU SR Teifa: S1fdT & witre fasra & figia & AR oY aad fibe giar ¢ 981 i
urar 8 | agwl Y foier 381 & R e &0 3 araat A gt 31 onfife araet & wure §f Sar wiH
T &Y et 21 sfoery # 3 Aes! Seervr @ forad onffe & u & Wud e A onfife ©u d $Ueik Te R
T o1 BT saferd T SrdT ot a1fes |ameA 3R Wi & Hidl IR THIIPR $TaH gl TP | ATHIND
fafaear &1 IeFifa W aRom @i aral W) AR o7 g, < Fefifea §: sssa s w ik srar g &
R 3T [T Uga &t f5a ©u A ad €1 afe @ 3= sy ol AR R v g A dw A
arfore fafaear ot war urEn giRea gt oirar @ 1 Iemar (6 agera & i a1 R e | iwr aea 7
ot Ter o1 9 R WRER $1 Bt ylaferan gidt 31 afe fed ager @1 9iv &1 9 afie @ 9
STaT € o 39 TS Jad a9t |

YRT & YT 3} & Fanfas St Aifa saawit a4t 2t 3UF gAR JUS & 14 & YR TR IR J9E1 3
et T 47| fAf Bt var 1) 3 % et T & it syt <t Afe awg S & ary v Ot
wiifer a1 gof srawT faw i g3 <t 39 a1 wR smenfa @ % fodt safaa &1 o0 fpw onfar & gam @1 eRish
FEHA b YU & HRUT R URA | 3T qTell TRBRI Bt SgRAT! Herdl &1 agierd ifis F ifts anr
MY Rrem 1 Braer 38M it 39% 3rarar Hifgar A ff gurs # wRewar bam &1 e fean 39
9 9rdl A IS g A # SIReddl Bam &1 IHPR PR 3411 39 ufRund 39 3@ & e @ 81 a8
39 919 | UdT Tadr 8 fr $3 0 &g Aa1 SR B A 3 € o St wifar & Y &1 g  sR it ot
T W SR 1 € AP BT ST Taad gl 81 TS YR W THTH F AT g% 91 &1 ufafHifira
WHR ¥ @ oI fraar 31 SR g0 $8 I&d & % YRd 98! 9 ¥ Ue didbda 99 38T 21

S T B UGHR - I T YA BT Ik 3T
W: YR g1 AT | 71 9 38T 82

1. Th el

2. T Aidhad



3. & dda
4. TH YHdT

Correct Answer :-

30) fadt oft Tt ® faftra snffe qaws, enfife Tgern, faftr wrars Te), fafira i ik wnfoal
Tt Hivg it &1 39 TU ot fAfaear sgd &1 afe Rifyuarsi are 3z #Y a9 @1 97 @ YR I IR
JeTER0 3R IS 6T 8 FPpaTl YR H giorar & TRt Wit ger ol &) 7= ard @i T8d 81 HRa |
ORI HTHTY, 3(ET-3ET T UTH, 3(T-3ET TR 3R a8 dve B! IPpia 3@ $i et 3

TS fauTer SR Torifa: S1fdA & wftre faera & Rigia & suR ot Jad fbe giar @ a8 Rigr @
TTaT 81 g%l Y RieT T8 & o onfifes w0 A avaat et gidl 31 enfifer arast & TuTe § Su R
Tt 81 UTaT 21 3faer ¥ 3R Sos! Sarevur @ R onfife v § Tud 7e 7 onfife U A $HeiR ¢ W)
A fPar1 AT saferd forar sirar AT a1fer wameE 3R =ifdd & Hidl WR THIfUeR S99 8 9F | e
fafaerar &1 TeFifa R aRoma 9 Tl R Ak s g, o Pafafea & e s aa w R srarg f&
T 3O [P UgE B 59 U A ad 1 afe &l 3ru= 3y o ARy A= @ € o 09 |

T fafaerar &Y war ur g g) ST 81 IeHar faddt Iger 3t 1 B fh avE I i ad 2
ot Ter @1 9 R WeR Bt ulafear gt 31 afe el ager @t wiv & 9 a8F | 9
STl € ot S9N SIS 9 a1 g

YRA & YT JUf & garfas ot i aawd1 9+ At 3Td SaR T9 3t S/ & YR R IR TYEI A
et Tt 4Tl faft 3 var 8 @ 7 oot ware ® it syawn < dfes g dian & 9y e w1
ST ar ot FrawT fawRia g3 ol 59 919 W enutia g % fsdt aafea &1 o= fory wnfar o gam 21 sidisht
U b YU $ HRUT R URA A 3T qTell IRBRI Bt SgRaArd! HHal &t aSterd sifires & siftre ahr
YfI® e T wraer IoM @it 39& Srarar Wigar 7 ot wa # SrrEwar am &1 s fHan 39
g g1l A IS gu ahil & SRedar B T aUPR & a1 39S TRomT 3@ @1 ot ia @ 138
39 91d | Ud1 Iodl & f o3 8 &g a1 IHR B I 3 @ Y St oiifa & T &1 TS b g v Bl
1§ ASIERY &1 8 dichad BT S-Tel Aadd giaT g1 TSl HRd § JHTS & ATHI g2 a1 BT ufaf-fire
WHR A @ o1 fArear 31 sARIE 30 $8 Iohd © % YR 98! 9 # Ue didhds 94 8T 2

ST TRl $ UgH - D T U= $T I«ik qarsy|
w: fafauarsit o <1 & RreTel & YR &1 ®RIF |12
1. gfear

2. 3

3. 9THI

4. 9BR

Correct Answer :-

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:

The most bittersweet thing



About the experience of reading

Is the ending

You don’t know whether to be happy
For getting that sense of closure

Or to be sad for reaching the

End of yet another adventure

The word which rhymes with whether
1. leather
2. bother
3. mother

4, father

Correct Answer :-

o leather

2) Read the poem carefully and answer the question given below:
The most bittersweet thing
About the experience of reading
Is the ending
You don’t know whether to be happy
For getting that sense of closure
Or to be sad for reaching the
End of yet another adventure
At the end of a book , the speaker experiences:
1. terror
2. delight
3. happiness

4, sadness

Correct Answer :-

o sadness

3) Read the poem carefully and answer the question given below:



The most bittersweet thing
About the experience of reading
Is the ending
You don‘t know whether to be happy
For getting that sense of closure
Or to be sad for reaching the

End of yet another adventure

When the speaker says she feels bittersweet about reading, it means she:
1. has mixed feelings about the experience of reading

2. hates reading

3. loves the experience of reading

4. finds reading very boring

Correct Answer :-

 loves the experience of reading

4) Read the poem carefully and answer the question given below:
The most bittersweet thing

About the experience of reading

Is the ending

You don’t know whether to be happy

For getting that sense of closure

Or to be sad for reaching the

End of yet another adventure

Give synonym of the word adventure.
1. inertia

2. latency

3. certainty

4. escapade

Correct Answer :-

e escapade



5) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”". She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can’t you
go elsewhere and just not bother me?”

Why did Mia approach Amir?

1. She believes everyone has a story

2. She wanted him to hoist her on his shoulders and run
3. She wanted to know why Amir had changed

4. He was a bully and she wanted to tell him that

Correct Answer :-

* She wanted to know why Amir had changed

6) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”". She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can’t you
go elsewhere and just not bother me?”

What does Mia realize by recalling, ‘You can never really understand a person fully until you
climb into his skin and walk around in it.



1. Amir was a bully
2. Amir was a friend
3. Amir was rude

4. Amir had a story

Correct Answer :-

e Amir had a story

7) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”". She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can’t you
go elsewhere and just not bother me?”

What did Mia remember with nostalgia?

1. A favorite book ‘To kill a mocking bird’

2. How Amir was fond of her

3. How Amir used to hoist her up on his shoulders

4. Amir the bully

Correct Answer :-

e How Amir used to hoist her up on his shoulders

8) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!



Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”". She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can’t you
go elsewhere and just not bother me?”

In the passage, who is the bully?
1. Everyone who has a story

2. Mocking Bird

3. Amir

4. Mia

Correct Answer :-

e Amir

9) Fill in the blank with the correct option in the given sentence:

The jury recommended clemen-- in reporting.

1. --ts
2. --ce
3. --sy
4. --cy

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:

Cinemaviewingisa_____ pastime among city dwellers.
1. popularly

2. popularity

3. popularized

4. popular

Correct Answer :-



» popular

11) Which of the following options best combines the two given sentences?
All of us started quite early. We missed the first local train.

1. As we started quite early, we missed the first local train.

2. Though we started quite early, but we missed the first local train.

3. Although we started quite early, we missed the first local train.

4. Whenever we started quite early, we missed the first local train.

Correct Answer :-

« Although we started quite early, we missed the first local train.

12) Choose appropriate articles for the given sentence:

Vasudha informed ___ HOD that she would be coming ____ hour later than usual.
1. no article required, an

2. an, the

3. the, an

4. a, no article required

Correct Answer :-
e the, an

13) Choose the appropriate option that rewrites the given sentence in its active voice.
A lot of rubbish has been thrown on the streets.

1. They had thrown a lot of rubbish on the streets.

2. People are throwing a lot of rubbish on the streets.

3. People have thrown a lot of rubbish on the streets.

4. We have been throwing a lot of rubbish on the streets.

Correct Answer :-

» People have thrown a lot of rubbish on the streets.

14) Choose the appropriate tenses to fill in the blanks in the given sentence :

People who the evidence at the trial at the outcome.



1. were hearing, was surprised
2. had heard, were surprised
3. heard, are surprise

4. are hearing, are surprising

Correct Answer :-

« had heard, were surprised

15) Choose the appropriate antonym for the highlighted word in the given sentence.

How could he desert his wife and child?
1. rescue
2. protect
3. defend

4. accept

Correct Answer :-

e protect

16) Choose the appropriate pronouns for the given sentence:

Ranveer saw in the mirror whenever got dressed.

1. himself, he
2. them, he
3. myself, |

4. herself, they

Correct Answer :-

¢ himself, he

17) Choose the appropriate prepositions for the given sentence:

The thief ran a cave that lead him a waterfall that fell the river.
1. into, to, into

2. from, for, onto



3. from, in, on
4, for, into, across

Correct Answer :-

¢ into, to, into

18) Choose the appropriate conjunction for the given sentence.

Do you like tea coffee?

1. but
2. yet
3.or
4, if

Correct Answer :-

19) Choose the appropriate synonym for the highlighted word in the following sentence.

He could not achieve success because of his cavalier attitude.
1. haughty
2. diligent
3. amiable

4. humble

Correct Answer :-
e haughty

20) Choose an appropriate modal for the given sentence:

We will not eat until the guests are here. They not have had their breakfast.
1. should
2. might

3. shall



4., can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

These days the villagers have spotted the fallen hero drink like a fish at the bar.
1. be like a fish in water

2. to drink heavily

3. enjoy a drink or two

4, cause a lot of disturbance

Correct Answer :-
o to drink heavily

22) Choose the option that best explains the highlighted expression:

The vice president of the company gave his subordinates a piece of his mind when the sales
figures nosedived.

1. pitched in
2. reprimanded
3. advised

4, accused

Correct Answer :-
e reprimanded

23) Choose the option that best transforms the sentence into its Indirect form:

‘Call the first witness,’ said the judge.

1. The judge told them to call their first witness.

2. The judge commanded them to call the first witness.
3. The judge said them to call the first witness

4. The judge called the first witness.

Correct Answer :-

* The judge commanded them to call the first witness.



24) Choose the option that substitutes the given phrase appropriately.

A person hurt or killed in an accident
1. Casualty

2. Martyr

3. Patient

4. Injured

Correct Answer :-

o Casualty

25) Read the sentence carefully and choose the option that has an error in it:

Someone who has ever tried to pick up spilled mercury will agree that this element is hard to
handle.

1. will agree that this element
2. is hard to handle.
3. Someone who has ever tried

4. to pick up spilled mercury

Correct Answer :-
¢ Someone who has ever tried

26) Change the given sentence to Indirect speech.

The king said, “Is there no one who can venture an answer here in the court?”

1. The king asked whether there was no one who could venture an answer there in the court.
2. The king asked whether there was no one who can venture an answer here in the court.

3. The king asked whether there is no one who can venture an answer here in the court.

4. The king said that was there no one who could venture an answer there in the court.

Correct Answer :-

» The king asked whether there was no one who could venture an answer there in the court.

27) Fill in the blank with the correct optionin the given sentence:



If a river flows above its banks, we say that the river is --flowing.
1. super--

2. sub--

3. under--

4. over--

Correct Answer :-

e over--

28) Fill in the blank with the most appropriate preposition in the given sentence.

A thorough search of the aircraft was carried out the airport.
1.in

2. during

3. at

4, above

Correct Answer :-

29) Choose the most appropriate determiner in the given sentence.

John hasn’t seen evidence to convince the police of the crime.

1. any
2. all
3. enough

4, a

Correct Answer :-

» enough

30) Choose the right tag:

I wrote to my uncle yesterday, ?



1. didn't I
2.did I
3. haven't I

4. do 1

Correct Answer :-

o didn't1

Topic:- Social Science (SSC)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This
was quoted by: / "T% AT Quf U ¥ TP Iexayut nfafafd gidt 8, st v "rrire araravor &
3T el }1" 98 9% §RT Sy fbar 71 oT:

1. William Kilpatrick / faferam foradfes

2. John Dewey / S Sidt

3. John V. Michael / Sii9 &, H1gdhd

4. Stevenson / &Id=4

Correct Answer :-

« William Kilpatrick / fafer fraifes

2) Constructivism as new philosophical approach for curriculum designing focuses on: / UTGdshH

feemsfin & forg 7 anffe eR®I & wu § WRammEe W A Hfd Bar |
1. Intrinsic motivation of the subject/ fawg @t siaRe SifiuRon

2. Delayed punitive mechanism / facifeid <STa® Yot

3. Extrinsic motivation of the learner / &f&ﬂ?ﬁa’ﬁ CIR| SO

4. Immediate reinforcements / deh el {EEGIWUT

Correct Answer :-

« Intrinsic motivation of the subject/ fawa &t sfidfe RO

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing
students an authentic, real-world context for learning? / @ 1 3iftrH, 3ia:-fawy g 3k APy,
BF-FE R ftrm W $fga wwar 3, iR ol &1 Wwm & e vy, arafas g a1
we wer farar wmar 82

1. Experimental / PIBIIRED

2. Curriculum Based / UTGUHH TR



3. Project Based / RIS 0R 3f1eTiRd

4. Rote Learning / X¢d 3{TETH

Correct Answer :-

» Project Based / ORI TR 31T

4) Which among the following is an example for institutional credit? / fAafefaa H Y B
HRITTT 9T & g T Ierevor 82

1. Moneylenders / HIghR

2. Primary Agricultural Credit Societies / Tfien Tﬁf g gt
3. Traders / STURY

4. Landlords / STHIGR

Correct Answer :-

 Primary Agricultural Credit Societies / PIgiEcs ?&f g giffaai

5) V%Ihich is not a quality of an evaluation tool? / 19 ¥ & FIT & GRIIHT SUDBRUT BT TP UrGwT
T8 82

1. Validity / &aT

2. Practicability / STAgTR& T
3. Objectivity / fT&fd

4. Subjectivity / Ul

Correct Answer :-

« Subjectivity / AfFTRE T



Match the following :

1. Poona Pact A 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3. Simon Commission €.1932
4. Gandhi Irwin Pact D 1527

[ FATATET &1 = &4

1. gaT FESHAT A. 1925
2. TE TR @S w9 | B. 1931
3. FEHT FHRA C.1932
4, aTef-seiET wevsitar | D, 1927

1. 1-A,2-B,3-C4-D
2. 1-C,2-A,3-D,4-B
3. 1-C,2-A,3-B,4-D
4. 1-D,2-C,3-B,4-A
Correct Answer :-
« 1-C,2-A3-D,4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of

the following? / 3% &1 TgMI H Uael SHewafeR ok dfaw gaota 93 A & I w1 Hgand 82
1. Lava/drdl
2. Locolith / Ay

3. Plutonic rock / @\aﬁE EFLE
4. Dyke and Sill / $13% 3R

Correct Answer :-

« Dyke and Sill / ST3% 3R @

8) The method which provides a certain degree of reality and concreteness to a learning

situa%ion is known as: / g faftr =it siftnmy fRAfa &) arafdwar ik REEr yer w3l 8, 39 = st
SIGLEH

1. Lecture-Discussion / SORAM-Tdf

2. Field trips / & qded

3. Dramatization / ATC®T ¥R



4. Demonstration / W{Qﬁ

Correct Answer :-

« Field trips / & Ticd

9) Who among the following started the Home Rule Movement in India? / HIRd A wda

g fAafafEa o 3 fad grRT IR= frar mar ur
1. Annie Besant / THI sdic
2. B.R.Ambedkar / &, 3[R, 3fAgHT

3. Jawaharlal Nehru / STATgR ATd A8

4. Subhas Chandra Bose /ﬁﬁ-ﬂgﬂa@ﬁg

Correct Answer :-

« Annie Besant / Tt s¥c

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / Can|

TR Wi Wt & ot BT B T URaT @ ATeqe T 47
1. Meerabai/lﬂﬂa'l_st

2. Chaitanya / ELE)

3. Tukaram / JPIRH
4. Andal / 3fqd

Correct Answer :-

o Meerabai / "v:ﬂTIEI'I"{E

11) Who was the first surveyor of archaeological Survey of India during British rule? /

fafe=r e & R YR RTac Tdervr &1 ugar Tdeurdd Si AUT?
1. Alexander Cunningham / 3colex HiHaH

2. James prince / o Ui

3. James Fergusson / SR tb_‘%:[

4. Dayanand Sahni / GOT-g TTgA!

Correct Answer :-

 Alexander Cunningham / 3 GCEEREARbE



12) Who founded the Swaraj Party in 1923? / 1923 H ¥a=Tol TS| Bl RITYAT fb o 12
1. Motilal Nehru and C. R. Das /ﬁ?ﬁaﬂﬁw 3R 3. 3R, ol

2. Gandhiji and Jawahar Lal Nehru / ¢Sl 3R S/aTeR @6 A8
3. Subhash Chandra Bose / gHTY T CIES|
4. Sarojini Naidu / RIS q1Ug

Correct Answer :-

« Motilal Nehru and C. R. Das / BYdl @ QBF R T, 3R, aq

13) Who is the exponent of Jurisprudential Inquiry Model? / faftr=imea Jaf g alsa &

uforue® S 82

1. Bill Gordon / fd@ &4

2. Richer Suchman / RER Jau=
3. James Shaver / SR QIR

4. Hilda Taba / R8T draT

Correct Answer :-

« James Shaver / O&F QaR

14) Who was first elected to the British House of Commons? / fsife=r °eId3d 3P ST P

fore wed ugd f5a g T e

1. Jawahar Lal Nehru / STdTgR dTd Age

2. Mahatma Gandhi / HeTdHT Tieft
3. M. G. Ranade/@.\?ﬁ. TS
4, Dadabhai Naroji / EIGI?-I'I_'QC RISt

Correct Answer :-

« Dadabhai Naroji / AR E) Rt

15) Capital of Ancient kingdom of Avanti was: / 3l & U TSy $t ettt A
1. Vallabhi / JeciHt

2. Pataliputra / trrd%nga
3. Vidisa / fafa=T



4. Ujjain / S0l
Correct Answer :-
. Ujjain / IS0

16) For what action in Freedom Movement is Usha Mehta known? / Sdaadl GI'IE.']FF-I A fryg

ST & I 3T Agdr S ST 82
1. Participating in Round Table Conference / TieTasl T T YT o & folg

2. Running a secret Radio during Quit India Movement / HRd BIS! 3ficiad & GRIM U T St
ESIE]

3. Captain in Azad Hind Fauz / 3fToe &g ®Iel & @ 94 & fag
4. Captain in Indian National Army / HRdId AP 1 H &I

Correct Answer :-

» Running a secret Radio during Quit India Movement / HRd @ﬁ@f 3fiaIe & SR b Tﬂl{%ﬁf

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? /

IABHSTR &1 URIE At I 9ig dial A frg 991 & faare asiE asi?

1. Mughal / HITcdd
2. Adilshahis of Bijapur / §TSITQR & 3ff¢er=Ta!

3. Afghan / {4

4. Nizamshahi of Hyderabad / %G?I@IG & 9 BRI

Correct Answer :-

« Mughal / T

18) The coin Rupiya was first issued which ruler? / U4l o 999 tl?ﬁ fPa s A
SR} far ut2

1. Humayun / ETITQL

2. Babur / &R}

3. Sher Shah / ¥R 8
4. Akbar / 3P dX

Correct Answer :-

« Sher Shah /IR X8



19) The cardinal objective of setting up a Social Science laboratory in the school is to: /

faremaa & Irfre fagm wahTRmar i @1 &1 U ST 8:

1. Preserve and transmit the art and artifacts to the future generations / ®cll 3R Rreqpfaal o
IRFE BT 3R Hiaw &t difeat o ugarn

2. Create an artificial environment for recreational activities of students / BTl bl AARSIH

fohgrepeTdT o foTQ Teh A aTelTaR ol SHIT

3. Extend additional space for group activities and project works / THg fopareanl 3R afeaerT
BT b fore sifafed R &1

4. Translate the theoretical postulates in to concrete experiences / ﬁailé% 3HfYy ‘EJRUIIG‘ﬁ G2l bﬁﬂ
3Yal T 3arg ATl
Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / @@W YRS BT 3
3fIHd! H 3fdTE BT

20) Two or more people learn or attempting to learn something together is known as: /qar

Sf® TR TP 1Y 3 JGd § a1 W &1 79 #5348, 39 A Ser e s:
1. Learning by observation / S{dciic1 gRT {eRTH

2. Learning by doing / fobamgeieh 3ifemma

3. Collaborative learning / ITqfg e HfTH

4. Team Teaching / Gaitd fRI&f0T

Correct Answer :-

« Collaborative learning / Qg SHfERTH

21) Which one of the following is not included as a function of Summative Evaluation? /

fFrafafea ¥ @ & amare geied & Te o1 & w0 8 e a8t 82
1. Promoting / MedTg

2. Selecting / IT-

3. Diagnosing / g™

4. Crediting / g T

Correct Answer :-

« Diagnosing / g



22) Which of the following is not a basic principle of Project method? / fFaferfaa & 9w
gfaerT faft &1 v ga Rigia T8 82

1. Validity / Q%

2. Activity / TTffafey
3. Utility / STAIRTT
4. Purpose / Gé{‘\’q

Correct Answer :-

« Validity / ST

23) Which of the following is the process of pinpointing the learning difficulty of a learner of
a learned material and to suggest remedial measures? / Frafafaa 3« @ §§ ad ST
Rrgmdf o W Ft S H1FE var T 3R ITARTHS U BT a1 B ufehar 22

1. Projective technique / PREIGERIG

2. Norm-referenced testing / AT TafHd URI&01
3. Diagnostic testing / AT gtero

4. Criterion-referenced testing / A8 Taid fafd

Correct Answer :-

 Diagnostic testing / Fere Tteror

24) Which of following steps is not involved in Inquiry Method? / JS-a1® fafir S AT
IROT M 781 82

1. Encounter with the problem / THIT T JTHAT HRAT
2. Formulating an explanation / Tch BT TIR HAT

3. Data collection and verification / =T U8 3R T
4. Classification and consensus / GBI 3R IITH

Correct Answer :-

« Classification and consensus / d{bR0T 3R AT

25) Which among the following is not a technique for ensuring reliability of a tool? /

Frafafaa & ¥« faga-aar 1 gfia w33 ) aeie T8 82
1. Odd-even method / I fawH fafd

2. Split-half method / favadTd fafd ((Ruce-gfw 7us)



3. Test-retest method / TRI&TOT G1:-UR1&70T fafey
4. Criterion-referenced method / AMGS Fl'ai'l-&f fafer @Wﬁ-w frus)

Correct Answer :-

« Criterion-referenced method / AMGS a‘aiﬁa fafer m-w 1?[243)

26) Assessing social relationship among members in a social group is termed as:

/ T TR TYE W Wewl & St qrATore et & mead &1 e wg1 e &:
1. Projective technique / gadt abe

2. Case study/ﬁlﬁ-ﬁ

3. Sociometry / JHTSIIHTC

4. Observation / e

Correct Answer :-

« Sociometry / GHTSIHf

27) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 A HRdG A

HHd I IdIG (Sis Il F IR BT R fora= wferzra ¥
1. 43%
2.31%
3.29%

4. 18%

Correct Answer :-

e 29%
28) Gandhian Plan was advocated by mdedtaeE,. @
Tadq & g1 fbar T o1

1. M. N. Roy / HFAGATY I
2. Jayaprakash Narayan / SIOYDBTR ARTIUT

3. Narayan Agarwal / TRTIUN HYATT

4. Jawaharlal Nehru / STATgR AT g3

Correct Answer :-

o Narayan Agarwal / TRTIUT 3{UATcT



29) National Forest Commission was established in the year . /?T@TI T SITART BT RITYAT
CL Hgs A

1. 2003
2. 2005
3. 2002

4. 2004

Correct Answer :-
e 2003

30) In which city was the first Automated Teller Machine (ATM) installed? / UY4H

3TaAes ear A= (arferd ure #eiie) (udiew) fory 2w A wifud &t e At
1. Chennai/aﬂg
2. Delhi / et

3. Calcutta / Herdl
4. Mumbai / G855

Correct Answer :-

« Mumbai / G

31) Which of the following factor is not the geography factors influencing population distribution? /

fFrafafEa # @ F19-91 PR SaE fFavor &) guifad w34 arar Yind R 81 82

1. Soil / HaTl
2. Water / Ot

3. Climate / STeTdIlg
4, Industrialization / ﬁ@m

Correct Answer :-

o Industrialization /GWWUT

32) FAO stands for . /mm&ﬁmqﬁw_ gl

1. Food Aid Organisation / ]S s Q‘/lnld)c"d( 3T Hlséslﬂ
2. Food and Agricultural Organisation / S s Q‘/lnldJQ"CR &ﬂﬁ:l'@m

3. Federation for Agricultural Output / BeX=H BR bR 3{13cYc

4. Federation for Agricultural Off take / ST BiX w;ﬁw 3B TH



Correct Answer :-

» Food and Agricultural Organisation / S TS TWidhedR HT‘T:I@W

33) politics is based on the idea that religion is the principal basis of social community. /

oo s feR W enutfya @ i o arfie aHe o1 uHE SuR 21
1. Regional / &1

2. Communal / TTYGITIE

3. Local / ®IHIY

4. Social / FTHTISD

Correct Answer :-

« Communal / ITUSIRI®

34) Who said that, ‘As far as the nature of legislature is concerned it is such that there are
restrictions only so far as procedure is concerned. But in substance there are no restrictions, no
limitations on the sovereignty of the legislature or parliament.’ / e bol ﬁ?, U HIGED faenRer
Pt Upid &1 IGY 8, 9 ufaay daa ufeear & de o & g, afe arafdwar & faurRieT a1 Jwe ot
TYYAT TR B3 ufaae 781 8, HIs S T8 g1

1. Acharya Kripalani / 3 m

2. Purnima Banerjee / Qﬁﬁ:ﬂ e

3. N.V.Gadgil / TA.d1. e
4. Durgabai Deshmukh / g? CIE EQIE@

Correct Answer :-

« N.V.Gadgil / T1.91.TS A

35) Who can confer civil and military awards on individuals for their services and achievements? /

Jarait 3R Iuaferal & fore aafemal & ArRe 3 8 RIBR 9 UGH T ol 82
1. President / ?TgCIﬁ[

2. Prime Minister / TYTHAT
3. Cabinet Minister / W_Cf EE|
4. Chief Justice / T =TT

Correct Answer :-

e President / Tl'gqﬁ



36) Who was the first social scientist to make a systematic study of bureaucracy and described it as

rational and the most efficient form of organisation? / T'ﬁWI'Iﬁ T AT HFIT B I 3R
39 THIAG 3R WS FT JTH P &Y T4 a1 Ugd AHINS Aq1D i &2

1. Karl Marx / Tl HTRT
2. F. W. Taylor / Uth. S8, TeR

3. F. W. Riggs / . S, /g
4, Max Weber / g IR

Correct Answer :-

e Max Weber / fla%réa?

37) Who was the first Chairman of Planning Commission of independent India? /ﬁ?‘iﬁ HURA P

TS 3TANT & Ugd eged i A2
1. Morarji Desai / ARSI éﬂTs‘
2. Lal Bahadur Shastri / ¢lc] dglgX TR

3. Pandit Jawaharlal Nehm/tﬁéﬁ NEIRRNIN :IEN‘\

4. Dr. Rajendra Prasad / E'T QI@IE Udiq

Correct Answer :-

« Pandit Jawaharlal Nehru / Uf&d STaTgRelel g%

38) Who is the founder of Bhartiya Jana Sangh? / YR S 9T & GRITYS S %:?
1. Gopal Krishna Gokhale / TTTUTel 80T TTRgt

2. Shivaram Rajguru / IECRERISE [

3. Shyam Prasad Mukherjee / RUTH UHIq H’@Gﬁ

4. Sukhdev Thapar / §@cd YTIR

Correct Answer :-
« Shyam Prasad Mukherjee / T0TH TG @i

39) Who will officiate as President till the new President is elected in case the office falls vacant and

the Vice-President is not available? / Wm%ﬁﬁaﬁ 3R mﬁ%mﬂﬁﬁﬁ
ot feufar & 7 wrgufa & fyaffra g7 o wgufa & o A o7 ol sem

1. President Secretary / ﬂgtrﬁf gfd
2. Prime Minister / eTTHAT
3. Executive Secretary / Eb—m gira



4. Chief Justice / ¥ RIBRIN

Correct Answer :-

« Chief Justice / T <AL

40) The monetary assistance provided by the government for encouraging the production in an

economy /Hmnﬁmﬁmﬁawﬁ$mwmﬂﬂiﬁﬁ$
el 2l

1. Tariffs / UR[e (CRW)
2. Subsidy / ST (Gfstel)
3. Quotas / PIeT

4. Embargo / UUR PINCL]

Correct Answer :-

« Subsidy / JSRIEIT (sl

41) When was the National Rural Livelihood Mission launched? / QT@'Q o SeiifaeT i o9
= fobar T 42

1. 2001
2. 2010
3. 2002

4. 2011

Correct Answer :-
e« 2011

42) “Explain the concept of Forests” — this question helps us to know the achievement of which of the

following objectives? / "l BT TR B RS P 1" —Wuaaﬁﬁqﬁr@aﬁﬁma‘&m
B SUAf S & Wag B 82

1. Skill / BRI
2. Creating / oI h[

3. Analysis / fa=eoo

4. Understanding / 9H

Correct Answer :-

e Understanding / JHS



43) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /

Frafafea o 3 f59 Iae & IaIHTa S Tudl BT XG0l G HET ol 82
1. Skandagupta /W

2. Chandragupta Il / I I

3. Chandragupta | / =% |

4. Kumaragupta / P HRIW

Correct Answer :-

 Chandragupta Il / It I

44) Who was the founder of the Holkar Dynasty? / BITleh I51aR & JRITYS B U?
1. Bana Misra /KITUTﬁ{%ﬂ

2. Malhar Rao / HegR Y4

3. Baji Rao / §TSit X1@

4. Madhav Peshwa / HT8d@ U@l

Correct Answer :-
e Malhar Rao / HegR 4

45) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India
and Pakistan is located near which among the following? / 110 fraitier ddl arafas a6s wifoRME
AT (TSdiTe), S URd SR Uifbwa & ot wifea geg ve1 7, Fafefa # 3 feas fee fRua @2

1. Shakshgam / RMEITH

2. Siachen Glacier / Ry aflRkrR
3. Sir Creek /IR CACH

4. Srinagar / SR

Correct Answer :-

« Siachen Glacier / RiaTfH WRRR

46) Which of the following organisations brings out independent reports on the violation of human rights

all overtheworld?/mﬁﬁﬁ-wwqﬁmﬁmwa?mwm
fraid arar 82

1. UNESCO / gA%h!
2. Amnesty International / TF¥C] SEIARMA
3. International Humanitarian Law / W@H B Ci) DI



4. UNDP / QUASIU!
Correct Answer :-

« Amnesty International / TFIC] SEXARHA

47) Which of the following is not a type of Urban Local Government? / fafafead s CaE kil Udh

TPR $1 e WM TWPR 81 o7

1. Zilla Parishad / STl oRwg

2. Notified Area Committee / Wmﬁ%lﬁ PERSIEI]
3. Cantonment Board / BIa-T EﬁTSF

4, Town Area Committee / h<d[ 833{ gfHfa

Correct Answer :-

« Zilla Parishad / ISTa1 gfkeg

48) External criticism is applied in: / ST&I SMARAT H @R F1 Sl B
1. Experimental research / PIRIEED ST

2. Quasi experimental research / 3{ & T ST

3. Historical research / ﬁﬁ%ﬂ%@ 3@ CIGH

4. Phenomenological research / TG YU
Correct Answer :-

« Historical research / UfdgTRi® Srdem™

49) What is not true about Hasan Gangu Bahmani? / 899 77 g0+l & IR # &1 I gl

a2

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole
of Deccan up to the river Krishna with its capital at Gulbarga. / 3% 1T 3Rd TR |
SIS D! WIST dh Tat o, R el # Su-t ISTeT o A1y FHT e} db A
Sdah feferd ATl

2. He was a Turkish officer of Devagiri. / d GaRI & U gab! SUDRI Y|

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. / 89 T Sg@+1, S80I
AT & IS Y|

4, He founded the empire in 1437. / 3514 1437 H TS &1 RITGHT H1 |

Correct Answer :-



« He founded the empire in 1437. / 378I 1437 H ALY &1 RITGHT i |

50) Which among the following organization is the best example of an agreement between

Oligopolists? / Frafafad # | F19-971 W16 sreuiiieR (&ﬁﬁnﬂrhﬁmja) o Th
A BT HIH 3T IGTET 82

1. GATT / SiedId

2. OPEC / 3{IUig &
3. WTO / Ssgeian
4. WEF / S%g5Uh

Correct Answer :-

. OPEC / 3NUisd

51) Which one of the following ocean currents does not occur in the Atlantic Ocean? /

frafafad # @ S1-3 7R YR seqifed AgRITR # 81 gidl 82
1. Peru current / U= YRT

2. Canary current / SR 4RI

3. Gulf stream / 7Tt & 1H

4. Brazil current / SISl YRT

Correct Answer :-

« Peru current / U= YRT

52) In which State of India is the Ranthambore Tiger Reserve located? / TUTYHR CIT'R

frord wRa & fra a9 Ra 2
1. Uttar Pradesh / STR UaRT

2. Madhya Pradesh / 9% UGl

3. Himachal Pradesh / [gHMd Ua=1

4. Rajasthan / TSI

Correct Answer :-

« Rajasthan / TSR

53) CANCELLED



Which is associated with Sufi Saints? / B9 JT GBI Iadl F Haferd g2
1. Sangha / Y

2. Mandapa / Heul

3. Synagogue / BICEIIS

4. Kanjah / Gl

Correct Answer :-

« Kanjah / b2

54) When is 'National Education Day' celebrated in educational institutions at all levels across the

country? / G WX # At WY W e G gty Rian figw w9 w=mar smar g2
1. 151 September / 15 IBELSR

2. 12" October/ 12 SIS

3. 14™ November / 14 Td&R

4. 11"" November / 11 FdeR

Correct Answer :-
o 11" November / 11 AdaR

55) Which among the following is a wildlife trade monitoring network? / FafafRad s
TS g6l AR FAIRE Aead 32

1. TRAFFIC / ¢t
2. UN-HABITAT / gu+-gdlee

3. PETA / UeT
4. DISS / &g

Correct Answer :-

« TRAFFIC / ¢fthe

56) Which year British transferred the capital of India from Calcutta to Delhi? / fpa ad A fafewr 3

YR B IS pap<r A fecet wHiaia a1 A ?
1. 1912
2. 1930

3. 1911



4. 1900

Correct Answer :-

e 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the

following? / U feya® (HU) & gafhd s &1 Ja® a1 dR Fafafed 4 | f5a
HUGKZOINE

1. Geomagnetic North Pole / w IR gd
2. Geographic North Pole / Ui 3t gd
3. Magnetic North Pole / ﬂ@ﬁ'ﬂq IR gd

4. Magnetic South Pole / DT GI&UN §[d

Correct Answer :-

« Magnetic North Pole / ﬂaﬁa I gd

58) Which type of weathering is caused by Ice Crystal growth? / feu wai ot W@ (CIER
foreed MY) & TP & SR 5T TSR BT s g1 8?2

1. Cavernous Weathering / P 30T
2. Biological Weathering / Sfdd 3
3. Chemical Weathering / I 3U&RT

4. Physical Weathering / ifd® suem

Correct Answer :-
« Physical Weathering / Hifdd 3/er

59) Bessemer process has been used in which of the following industries? / SATR ufepar &1

Sya fRafafad & 3 e s o far mn @2
1. Fertilizers / W

2. Aluminum / gAY

3. Steel / LI
4. Coal /W

Correct Answer :-

o Steel / YId



60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the

following national park/bird sanctuaries? / '\rnsﬁﬁmr W, U quiurg PGIEs| W&‘ﬂ fafafead a
fra wgia Sem/ueh srvarva &1 fFrafia smiges 872

1. Vedanthangal bird sanctuary / daTiTe Uelt SIHaRuY

2. Keoladeo national park / Hadicd QT@T{ 3l
3. Ranganathittu bird sanctuary / 3 :lllﬂag Teit SrUgRug

4. Sultanpur bird sanctuary / Wq&‘ﬁ STHIRUY

Correct Answer :-

« Keoladeo national park / adlGd IIPTT I



